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000000000000 0000000000000000000000000

call({w.P}) = {w}
call(Ry = Re) = call(Ry) U call(Ry)

CCSPROODOOOODOOO 3300 3400000000 20000D0ODODOO
3o bbdgooooobooobobboboboo0o 34b0oobbubood
goodooooo

00 Subo; 0000 O0OODOOOODOODODOO [a],le)jDODOOODOODOODODOO
00000000000 70000 [el0000000DCOCOOOODOODOOODOOO
gobobbbdooooobobboooooooboboboobobboboobobooo
O0000000o0oopoo\ooooobo /opooo

0oo0oo0ooO Sync,, 000000000000 OOOOOOOOOOO
gbogdboobboobbooooobboboobuooooboobobooogo
gooboooobbooooboobbbbooobooooobboobbuoogo
Uni; 00000000 O00ODOO0O0OO0O0ODOOODOODOODO

000 S 000000 (S.Choicej, S.Com, 5, S.Sync, 5, S.Subo; 7, S.Rel, S.Res,
S.Hide, SRec) 0000000000000 000000000O0 (+ |, [[,). [f],\
/)000000000000000000000DO0OO00DUOo0ooOoOoOooOOO

{a.Q} (@ | P) — {a.Q} >((P)Q) | P2)

40



0o 0o - 0o

Act - a.P - P
Choice; PP, jelbk Yigh—PF
Com; P P+ PlQ = PI|Q
Com, QLQ/'_P’QLHQI
Com; PP, Q5@ F PIQ- P|Y
Sync, PlQ = PI|Q, a¢ Lo+ P|Q— P|Q
Syne, PP QL Q F PIQ-S P
Subo; P|Q > P|Q, a¢ LpULc F P)Q -5 PHQ
Subo, pld prp P)Q SN — P)Q
Subo; Pﬂp', QﬂQ/ = P)Q 1, — PHQ
Rel P P+ Pl P
Res PP, a¢ LUL + P\L-"P\L
Hide, PP [aeLt+ P/L-TsP)L
Hide, PP, a¢lLt+ P/L-=P/L
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Rec PP, AYpr AP

g 33 0u00ugpoobuooooboboag 1

goodoooboboood
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-a.pP, o, Ppovee- (%2) by Act
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S.Sync,
S.Sync,
S.Subo;
S.Subo,
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R>P " Rp>P
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00 (strong equivalence) 000 O0O000P~QO0O0O0O 1

O0000 24100000000000002420000000CCSPROOODO
OCCSOO0O0OnbOn 241000 2420000000

CCSPROODDODOODOOODOOO RxPOOOODOOOOOODOR>POOOO
gogdobobobbbooobboobboobbboooooobbbobobbooo
OOR>PO ROODODOUODOODOODLDOOOODOOODOOODOOOODO RODO
goboboooboogdaagd

00 3.5.1 00 Ry~R,0000R, P ~Ry,x-P0O000
00 0000SO00000000000O00

S =Un>o Sm)
0D000S™OoDO0000D0000D000000 (n>0)0
SO =5"us”usd
S = {(R >P,Ry>P) : R, ~ R}
8(0) = {(Rl I>P1,R2 I>P2) Ry~ RQ, Ri>P ~ R, I>P2}
S = {(R>[Pu], RB[Pau]) : Piy ~ Py}
Sn+1) S(n+1) U S(n+1) U S(n+1) U S(n+1) U S(n+1) U S(n+1)
S = {(Ry (P11 |Pia), Ro (Pt | Pa)) : Vi € {1,2}. (Ry 5Py, Ry 1>Py;) € S™M}

(
(n+1) = {(Ry >(Py1||Pr2), Ro > (Pa||Po)) : Vi € {1,2}. (R > Py, Ry > Py;) € S™}
(n+1) = {(R1 >(Pi1) Pi2), Ro 1>(Pa1) Po)) : Vi € {1,2}. (Ry > Py, Ry 1> Py;) € S}
8(’”” {(Ry >(Pulf]), Ro > (Pailf])  (Ry > Py, Ry > Poy) € S™}
S = {(Ry 1>(Pi \L), Ry t>(Pur\ L)) : (Ry >Py1, Ry 1>Py;) € 8™}
S — {(Ry (Put /L), Ro t>(Po1 /L)) : (Ry Py, By 1> Poy) € S™)
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(i) Ri>P - R >P 000 (Ry>P - P/O0OOOP/ 00000
PO P/=R P 00000)0000000000O0000O0O0O0O
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0000000000000 000000000

1. Supp, 00000000 @, P/, wOOODOOR, - Ri>Q, 00
P2 P00 =700 P =P)NQ, 000000 R ~ R,
00000 QU000 Ry - Re@Q 00 RibQr ~ Ry>Qy O
00000000Supp, 000 RyP - Ryi>(PQ,) 00000
000(R =P, Ryi>P!) € 8200 (R Qi R>Q,) € S 000
(R1 >(P)Q1), R >(P)Q2)) € $V 0000

2. Supp,000000P - P/ 000000000Supp, 0000
Ry>P -5 R,>P/ 00000000 (R P, RP)es® 0000

3. S.Choice; 00000000 jelO P; (iel)0000 R P, ——
Ri>PO00P=Y,,P;00a=r000000000000000
00000000000000 PO00O RypP,; - Ry>P,00
(Ri>P/,Ry1>P) € SO000D00000; € /000000S.Choice;
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4. 8.Com,00000000 Py, P, P,OOOO0OR, >Py —— R, >P),
00 P, =P,|P,00 P.=P,|P,00 a=7r0000000000

44



D00000000000000 P,0000 Ry>Py —— Ry>P), 0
0 (Ry =P}, Ry1>P)) €SO000000 (R, P, Ry>Pp) € S C
SO0000000(R >(P|Pw), Re>(Py|Pp)) €eSO00000000
Ry>Py —— Ry Py, 000S.Com; 00 Ry P, = Ry >(Py1|Py) —
Ry >(Py,|Pp) 00000

5. 0000 S.Comg, S.Sync, 5, S.Subo; 2, S.Res, S.Hide, S.Rec U U
0000 SCom 000000000000 O0O0

— (Ri>PL, R bP) eSY000000000R, ~R00 R =P ~ Ry 1>P;
oooo
(i) RipP - ReP000000000R P ~ Ry 000000
00 P,O000R P, - Ry>P,00 RibP ~Ry>P, 000000
000 (R BP, RP)es? csnonnn

— (RipPLR>P) eSY000000000R=R, =R, 00 Py ~ Py
0o Plz[[PH]]DD PQE[[PQl]]DDDD

(i) R>P, = Rp[Py] — Re>-P/00000000D0O00DOOODOOOO
Supp; I Supp, 0000

1. Supp, 00000000 Q, P/,w00000R -5 R>Q00 [Py] -
P/00 a=700 Pl=P)QO0000000[P,] -5 P/O0OCO
00000 Pack0000000000 P,00000P; > P,00
P/=[P,|000000000OP =[P,])QDO00000000 Py ~
P, 00000 P,00000R, =P, 00 P, ~P, 000000
00000Pack000 [Py] -2 [P,]000000000R -5 Ri-Q
000000Supp, 00 Ri>[Py] — Ri([Py4])Q) 00000000
P, ~P,000000(Re[P,,R>[P])es 000000000
(R>Q, R>Q) € 8" 000000(R>([PL])Q), Re-([PL])Q)) € S5
afalala

2. Supp,000000[P,] - P/O000D00O00O0OOOOOOOOOO
Pack 0000000000 P,00000P; % P,00 P, =[P,]
0000000000 Py~P, 00000 P,00000PRy; - P,
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000000000Supp, 00 R[Py] -2 Ri-[P,]0000000
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D000(R P, R>R) eS8 000000000k =100000000
D00000000000D0000004€{1,2}00000P, = Py|P,00O
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00 (R >Q1, Ry >Q0) € SO 00000 DOO PPy = P/0 Comy [
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0 P,00000Ry>Py —» Ry>P,, 00 (R >P),Ro>P)y) € SO
D00000O0O0R Py - Ry>P, 000D0000w # 0000
0 Supp, 00000000000OPR,, - P,00000000000
000000Com; 00 PyulPy - PP, 000000000P, =
(Py|Poo))Q: 00 000R, -5 Ry>Q 00000 0Supp, 00 Ry Py =
Ryt>(Py|Py) —— Ry,>Py00000000(R, >P,Ry>P)) €SOO
(Ri>Pra, Ro>Pop) € SOOOO0DO (Ry >(Py|Pr2), Ro (P | Po2)) € SO
000000 (RibQy,Rep>Qy) € SO000000(R, >P,Ry>P)) =
(Ba (P11 Pr2))Q1), Ro > (P | Pa2))Q2)) € SO OO O

2. Supp, 00 00O00P,|P, - P/ 000000000 DO0DOO00
Com,,; 00000000000

(1) Com; 00000000 P,0000 Py - P,00 P =P),|P»0
000000O0Supp, DO00R, »Py - R =P, 000000000
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(Ri>P, Re>Py) e SMWO00000R 0000000000000
00 PL,O00000Ry>Py — Ry>Pp, 00 (Ri>P),Ry>P)) €S
oooo

—a#70000R Py - Ry>P, 000000000 Supp,
00000000000Py - P, 00000000Com; 000
Poi|Poy =% P} | P, 00000000P, = Py|P» 0000 OSupp,
00 Ry>Py= Ro>(Po|P) - Ry >P,00000

—a=70000R, Py - Ry>P,000000P,=P,|P»00
000S.Com; 00 Ry Py = Ry 1>(Poy|Pas) — Ry >P,0 0000

D0000000000000R P, % Ry>Py= Ry>(P}y|Py) 0
00000000 (R >P,Re>Py)eSO0 (Ri>Pig, Re>Py) €S
000 (R P, Ry>P}) = (R, >(P},|Pis), Ry 1>(Ply|Py)) €SO OO DO
(2) Comy, 00D0D000Com, 0000000000
(3) Com; 00000000 P, Py, wOOOOOP,; 5 P,00 Py -5
P,00 =700 P =P,|P,000000000000000
O0O0Supp, D0OR Py -5 R P, 00 R Py — R, 1>P),
D00000000(R,>P,Ry>Py) €eS™WOO0000Ox 000
D00000000000 P, 00000 R, Py - Ry>Py, 00
(Ri>P, Ry >Py)€eSO0000000(R, >Py, Ry >Py) € 8™ O
0000 PL,O00000ORy Py - Ry>PL, 00 (R, Py, Ry 5Py, €
SO000w#7000000R, Py — RyP)y 0 Ry>Py -5
Ry>P, 000000000 Supp, J00DD00DODOOPR; —&
P00 P -~ P, 0000000000000000000Com,
O000Py|Py — PP, 00000000 OP, = PPy, 000
OO0Supp, 00 Ry>Py = Ry>(Py|Py) — Ry,>-Py000000
OO0(Ri>P,Ry>Py) e SO0 (Ri>P,,Ry>P)) € SOO0O0O0OO
(Ri>P[,Re>P)) = (R >(P{,|Ply), Ro>(Py | Phy)) €eSO00O0O
3.8.Com; 00000000 P,00000R, >Py —— RpP,,00 P =
P P00 o =7000000000(RBPy,Re>Py) € SWOO
D000,/ 000000000000000 P,00000R,>Py ——
Ry>P, 00 (R >P,R>P) €SO00000000OP, = Py,|Psy O
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0000S.Com; OO0Ry>Py = Ry>(Py|Pr) — Re>Py00000
O0O0(Ri>P,R>Py) € SO0 (RipPpo,R>Py) e SOOOOOO
(R1>P, Ry >P) = (Ry >(P[1|P12), Ro>(Pyy | Pa2)) eSO OO0

4. SCom, 0 00OO0OOS.Com; 00O0OO0O0OODOOO

OO0ORMPOOOOO POOOOOOODO0O0OOO0OOOOO0OO0(@0)N\a~0
00000{ab0}>(@0)\a # a0} 000000000 fa.b.0}>@0)\al 760
000000000000000000 ~0 CCSPROOOOOOOOOOOOOO
0000000 POOOOOOOOOOOOOOOOCO

00 3.5.20ie{l,2}U/00000RPP;~R>P,0000000000000

gooodo
(1) Ri(a.Py)~Ri(a.Py) (5) R>(Pu)Pia)~ Ri>(P)Py)
(2) R (Xier Pu) ~ R (Zier Pai) (6)  Re(Pulf]) ~ Re(Pulf])
(3)  R1(Pi1|Pra) ~ R>(Po1|Py2) (7) Rp(Pu\L)~Rp>(Pn\L)
(4) R (Pul|Pi)~ R>(Paul Pr) 8)  Rpe(Pu/L)~R>(Pu/L)

00 (3)00 (8)000000003510000000008000000000000
0ic{1,2}UI00000RPP,; ~R>P,000000(RBPy, R>Py) €SO00
000000000000000 (3)000000(R>(Pu|Pr), R>(Psy|Psy) € SV
0000S00000000000RE(Py|Pe) ~ R>(Pu|Pp) 00000000
(4),---,(8)0 0000000000000 (1)0 (20000000 241000 (5)0
0000000000 (%)0000000000)0

(1) Re(a.Pyy) 25 R-P/00000000000000000 Supp, O Supp,
0000000000000000

e Supp, 00000000 Q, P/, wDO000OR-SR>Q00 a.Py = P
00« =700 P =P)QUOO000aP, = P/0000000O Act
000 a=w00 P,=P/000000000Act000 a.Pyy -5 Py
DO0DDD0O0O00R - R>QUOODDOOSupp, d0 R>(a.Py) —
Rr(Pp)Q)00000O0ORPP, ~R>P, 000000000 3.5.2(5)
OO0O0ORPP =Rp>(P11)Q)~R>(Pn)Q)00O00
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° SuppZDDDDDDa.PH&P{DDDDDDDDDDD ActDO0O0 a=d
00 Pp=P 0000000000 ActOO000Oa.Py L/>P21DDD
00000 O0Supp, 00 Ri>(a.Py) 2+ R>P, 00000000000
R>Pl=Rp>P,~RpP 0000

(2) R>(Sier Py) > R>P,00000000000000000 Supp,Od Supp,
0 S.Choice 01 00000000000000O0

e Supp, 00000000 Q, P/,wdOO000OR-5R>QO0 Y Py —
P/O00 a=700 Pj=PNQOOO00Y, P; - P/00000000
Choice 100000 j€I00000PR, 2 P/00000000O0
Supp, 000 R>P; = Rp-P/00000000000 R>Py; ~ R>Py;
00000 P/O0O0OORMPy; = R-P/00 RP! ~ Ri>P/ 00
D000000w # 7000000RPP; = R>-P/0000O00O0
00 Supp, 1000000000 0PR, = P/O0000O0OO0j €1
000000 Choice; 000 ¥, Py —~ P/O0D00O0O000OR %5
R>QOO00000Supp, 00 Ri>(Se; Pu) —— Ri>(PY)Q)0 000000
R>P/~R>P/O0000000003526)000RMP, =R(PQ) ~
R>(P))Q)0000

e Supp, 000000Y,, Py - P,00000000000000000
Choice 00000000 jelO0O0OOO0P, - 000000000
Supp, 000 R>P; > Re-P, 0000000000 RePyj ~ R>Py;
00000 Pj0 RPyy - R>Py00 R>P,~R>P,O000

—a#7000000000RPP,; - Re-Py 000000000 Supp,
00000000000R,; % PO0000O0O0O0O;j€l0000
0 0 Choice; 000 Y, Py — P,000000O00OSupp, 00
Ri>(Y,e; Pu) - Rp>PyO0000

~a=7000000000RPPR,; ~—~ RrP,00 j€l000000
S.Choice; 00 R> (Y Py) — R>P,00000

e S.Choice; 10D 0DDODOO j € I00D0OOORMP; — ReP OO
a=70000000000O0 ReP; ~RpPR,,00000 P OOOO
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RePy > ReP,00 R-P ~R-P,00000000j€/0000
0 08S.Choice; 00 R (Y, Py) —— ReP,O0000O0

000000 [JoooOo0O00352000000000000000000

00 3.5.300 P~QOOOORP[P]~Rr[Q]OODODO

00 00351000000000800000P~QO000 (R[P],R>[Q]) <€
S CcsSOO0000000sSO0000000000RR[Pl~R[Q0DOOO

00000000000000000000000000000000000000
000000000000R(P))~RrPODDDONOOOOOOOOO 3.5.2(4)
DO0O0R((P))]|Q)~R(P|Q)0000000ODO0

O00oobb0o0 ROODUOUOODOOOLDDOODOODOOODODDODbDOOO0 354
oobobodooddRrPUO00O0OL0OOODLDDOODDDOODDODODDDODOODLO
gbobooobboobuogbobooobbobbosssgun sseddnnooogn
OO0 pOO0O0OCO0OO0ODOLDDODOOO

00 3.54 ReReeopr U O DOOOOOOOOOOODOOOODO
R P <+ P =RpCP(w,R)00 w € call(R)

000000 CP: Regpr — Peespy 000000 ROD 0000000000000
000000000000000000000000000000

CP(w, {u'.Q}) = ? Ez ; z/;
CP(w, R1)||CP(w, R2) (w € call(Ry),w € call(Ry))
CP(w. Ry Ro) = CP(w, Ry) (w € call(Ry),w ¢ call(Ry))
T p(w, Ry) (w & call(Ry),w € call(Ry))
I (w ¢ call(Ry),w ¢ call(Rs))

00 (=0000R-= PO0O0O0O0O0O0OOOOOOOOOOOOOOOOOOO
R PO0O000000O00ODOOODOOOOOOO
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. Reso00000000 QUOOOOR = {wQ} 00 P = {wQ}sQ0
O000000we€ call(f{w.Q}) = call(R) OO0 P = {w.Q}0Q = R>Q =
Rp>CP(w, {w.Q}) = Rp>CP(w,R) 0000

2. Uni; 00000000 R, R, QUOOO0OR=R =R, 00 R = R >Q
00 w ¢ call(R,) 00 PP = Re-QUOODDO0O00OD0000R »Q =
Ri>CP(w,R)) 00 w € «ll(R) 00000000 DOR = CP(w,R)) 0000
O000wé€E call(R) 00 w ¢ call(Ry) OO0 OCP(w, Ry Re) =CP(w, Ry) =QU
O0000000w € call(Ry) C call(Ry) Ucall(Ry) = call(R)OD 0O P =Rp>Q =
R>CP(w,R1:Ry) = R>CP(w,R) 0000

3. Unpb, UODOO0OO0OUnpyOO0D0OO0ODOODODOO

4 Uni; 00000000 Ry, Ry, Q, Qu00000OR=R, = Ry,00 R, -
Ri>Q 00 Ry, - Ry >Q,00 PP=Rp(Q1]|Q) 0000000000000
0ie{l,200000R>Q; = R >CP(w,R) 00 w e callR) D 0000
O0000Q; =CP(w,R)00000000w € call(R)00 we call(Ry) 000
CP(w, R1:Ry) = CP(w, Ry)||CP(w, R2) = Q1 ||Q: 0000000 0w € call(Ry) U
call(Ry) = call(R) OO P = R>(Q1]|Q2) = R>CP(w, Ry = Ry) = R1>CP(w, R)
goon

(<)0000P =RpCP(w,R) 00 wecdl(RA)DODROIDONDONONONOOOOOD
000

L. R={Q} 0000w € call(R) = call({'.Q}) ={'} 000 =wO0O
0000000P = ReCP(w,R) = R-CP(w, fw.Q}) = R>Q 00000000
Reso00 R={w.Q} - RrQ=P 00000

2. R=Ri:R,0000w € call(R) = call(Ry = Ry) = call(Ry) U call(R,) DO OO
g30dbboboouoooon

eweccdl(R)ODD0 w ¢ call(R)DODDDDOODOOP =R BPCP(w,R) =
RiCP(w,R,)000000000P =R, >CPw,R) 000000000
0000 R~ P 00000000w¢cll(R,)000000Uni; 00
R=R:Ry — R :R,>CP(w,R)) =P 00000
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ewdcll(R)I0 wewll(R,)0000000000000000

eweccl(R)OD0 wecll(R)DODDDDOODDOOP = RBPCP(w,R) =
Ri>(CP(w, Ry) ||CP(w, R,)) DD 0 O0O0DODO0D i€ {1,2)00000P =
R, >CP(w,R)000000000000O0O0 R, — P/ 00D00000OOUni;
00 R=Ry:Ry = Ry =Ry >(CP(w, R)||CP(w, Ry)) = PPO0OO OO 1

00 3.55 (ROODOODO)ReResp D000 DOOOODOOOOODOOODODO
R~>{w.(R>CP(w,R)) : w € call(R)}

00 00241000 ()0 )000000000000

() 00000D000000000000000 R - PO0O0OOOO0 354000
P'=RiCP(w,R)00 we callR)0 0000000000 ActO Choice 0000
S (RCP(w, R)):w' € callR)} > PPOOOOOOOOOP ~P 0000

(i) S{w'.(R1>CP(w, R)) : ' € call(R)} > P 000000 Act O Choice 0000
00 wDOOOOa=wecal(R)00 P =RpCP(w,R)I0000O0O0O0O00ODO
0000035400 R P 0000 I

00 3.5.6 (Rx-POO0OO0D)POOOODOODOOODOODODOODOOOOODODODO
. Re(a.P)0000
Rp(a.P') ~a(R>P)+ Xoccanmi(R>(P)CP(w, R))) : a = W}
2. R(Y,, ) 0000
R(Yier i) ~ Yier(R>F)
3. R(P|P) 00000 i€{1,2)0000 RpP~ Y,y ai.(R>Py) 0000

R (PI|P) ~  Yjep arj.(R1>(Pry|P))
+ e, a2 (R >(P1| Pyy))
+ X jen Lien{T (R (P [Pyy)) 1 Fw. cujy = w, azj, = W}
+ X wecat(r) 2jen{T-(R>((P|P2))CP(w, R))) : ay; = W}
+ X wecan(r) 2jen{T-(R1>((P1|P2;))CP(w, R))) : ag; = W}
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4 R>(P||P)00000i€{1,2)0000 R>P ~ Y,y ay(R>P;) 0000

Re(Pi]|P) ~  Ejen{on (R>(Pyl|P)) oy & Lo}
+ X jen{on; (R>(P|| Py)) : oz & L}
+ X gen LpenAT-(RE(Prjy || Pagp)) 1 Fw. anjy = w, gy = W}
+Xjen Lienila (R>(Py ([ Py,))  arjy = agg, = |af}
+ Xwecatt(r) Ljen {T-(R>((Py; || 2))CP(w, R))) : anj = w}
+ Y wecat(r) Lien A T-(RB>((P1[| Py)))CP(w, R))) : ag; = w}

5. R-(P)P,) 00000 i€{1,20000 R>P,~Y,ey, ai.(R>P,;) 0000

R (P)Py) ~ Yicpta (R>(Py)P)):on; & Lp}
+ 2 jen i (R>(P1)Pyyj)) : coy & Lp U L}
+ X gen LieniT-(RB(Pryy) Poyjy))  Fw. cujy = w, agjp = W}
+ X gen Lientlal (R>(Py ) Pay)) t angy = [al, azp, = af}
+ Xwecan(r) 2jen {T-(R>((P1;) P2))CP(w, R))) : ay; = W}
+ X wecan(ry Zjen {T-(R1>((P1) P;))CP(w, R))) : ag; = W}

6. R|>(P1[f])|:|DDDRDPlNZjeJlOJU.(RDPU) ogooo

Re(Pf]) ~ Ejen o). (R>(Py(f]))
+ Xwecanr) Ljen {T- (B> ((Py[f1))CP(w, R))) : flan;) = W}

7. R[>(P1\L)|:|DDDRDPlNZjeJlO[U.(RDPU) ooon

R|>(P1\L)N ZjeJl{alj-(RD(Plj\L)) . Oélj ¢LUZ}
+ Xwecat(r) Zjen {T-(RB((Py;\L))CP(w, R))) : nj =@ ¢ LU L}

8. R[>(P1/L)|:|DDDRDPlNZjeJlOJU.(RDPU) ooon

Re(P /L)~ Yjen{o (R>(Py/L)) :ou; & L}
+ Y jen{m(R>(Py/L)) : an; € L}
+ Ywecati(r) Ljen AT (R >((P1;/L))CP(w, R))) : ay; = w}

9. RD[[Pl]]DmmljplszeJlaleljDDDD

REe[P)~ Yjes ary-(R>[Py]))
+ Ywecatt(r) 2jen AT (R >([P])CP(w, R))) : a1y = W}
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00 0000000000 241000 6),()D0000O0ODODOOOOO

1. R(a.P) 00008, = a.(REP)0 S = e {m-(R>(P)CP(w, R))) : a =
@»}0000

(i) Re(a.P) 5 P'O0000000000O Supp, O Supp, 0000000
00000000000000

e Supp, 10000000 Q, A, wOOO0O0OR - R>Q00 a.P' - Py
00 « =700 P/ =R(P)Q)0000e.P -5 AO0O0O0O000
0 Act 000 o =w00 P =P 0000000R - ReQODO
000000 35400 R>Q = R>CP(w,R) 00 w € call(R) 0000
D00a=w00 wecal(R)DOODO0O0O0000 Act O Choice 000
0 S —— Ri(P)CP(w,R)) = P 000000000 Choice D000
S +8 - P'00000000P ~P'0000

e Supp, 00000000 PO0000eP 25 P00 P'=R>P 00
O0a.P 2 P00000000 ActO0O0 a=«’00 P=P 0000
00000 Act0000 S -% RP =P'000000000Choice
0000 S +8, - P'0000

(i) S+ 8, 25 Pr00000000000000000 Choice, I Choice,
0000000000000000

e Choice; 1000005 25 P/00D00000000 Act00000d =a
00 P'=R-PO000000ActO00 o.P % POOOOOOO
00Supp, 0000 R(a.P) > R>P =P'0000

° ChoiceQDDDDDDSQ&P”DDDDDDDDDD Act 0 Choicel 0O
0000 wDOOOOP =Re(P)CPW,R)D0 a=w00 we cal(R)
00 « =7000000000w €cll(RODODDODODOOOO 35400
RLRDCP(M,R)DDDDDDDActDDD a.P S PO00O0OO0ODOOO
a=wl00000Supp, 0000 R>(a.P) = R>(P')CP(w,R)) = P
oo
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2. R>(Yie; ) 0000

(i) Re(Y,e, P) -5 PO0000OOOO0DO0O000O0OOOO Supp, 0 Supp,
0 S.Choice; 10 00000000000000

e Supp, 10000000 Q, P",wOOOOOR -5 R>Q00 Y, P -
P'O00 a=700 P =Re(PHQ)0000Y,, P = P 0000
0OChoice 00DDO0D j € /I00000P % P/'O0O0OOOO
O0000O00O00R - R>-QO00 P, %5 P'000000Supp, OO
R>P, > Ri>(P")Q)= P 00000000 e I00000 O Choice;
000 Y,(R>-R) -~ P O00000

e Supp, 00000000 P'O0ODOY, P, - P'00 P=R>P'O
000Y,, P P'000000Choice 000000 jel00000
P, P'00000000O0Supp, D00RBP - RP' =P O0
O000000 e /000000 Choice; 000 Y, (R>P) -2 P00
0oo

e S.Choice; 10000000 je/00000RPP P OO0 a=70
00000000 Choice; 000 Y, (R>P) -~ P 00000

(il) Tie(R>P) 5 PO0DO000D0O000O0O000000 Choice0 00D
000000000 jel/00000RpP - PO0000OOOOOOODO
000 «000000000000000000

e a£7000000000RMP, % PO00O000O0O000 Supp, 0000
000000000 P/00000P - P'00 P =R=-P'000000
00 P P'000je/00000000 Choice;000 X, P - P"
00000000000000Supp, 000 Ri>(Yer P) 2 R>P' =P/
ooooo

ea=7000000000RMP, - PPO000OODS.Choice; 000
R>(Y, P) - P 0000

3. R-(P|P) 000000 Re(A||R)00000000000000000
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4 R>(P||P)00000i€{1,2}0000 R>P~ Y,y aiy(R>Py;) 000

S =Yieq1, 6y Oi

S1 = Yjen o (R (Pyl| B2)) s any & Lo}

Sy = Yjenf{an (R(P1|[ Py)) s any & Lo}

S3 = Yjien 2jen{T-(RB>(Py [ Pyy)) : Fw. oy = w, agj, = W}
S1=Yjien Ljentla).(Re(Py, || Paj)) t onj = g, = [af}

S5 = Ywecati(r) jen 1T-(B>((Prj || P2))CP(w, R))) : an; = W}
S6 = Ywecati(r) 2jes AT-(R>((P1 || P2;))CP(w, R))) : agj = W}

gogo

(i) R=(P || P) - PO0D0O0O000O0O0O00000C0O0 Supp, O Supp,
0 S.Sync, 0 S.Sync, 0 00000000000000O0

e Supp, 00000000 Q, P, wdOOOOR- R>QO0 PP -5
P,O00a=700P =R>(P,)Q)O00OR-R>QUIODOOOOO
3.54000Q =CP(w,R)00wec (R 0DD0D0DOc000000O0
000000 AP - PL0O Sync, 000000000000000000
PO P,O00O00OR|R - P,=P/|P,0000000000000 Com,
0 Com, 000000000 DDDOODODOO0ODDOO Com 000000
00000000P, - P00 R,=P,00000000000Supp,00
R>P, 5 RePO0O000O0000ORBP ~ ey, o (R>Py,) 0000
0000 S"00000% e, uj.(R>Py) - S"00 R>P) ~S"0000
0D00000000 Choiced Act000000D0D0000O0DO je ;00
0008 =RpP,;00 a; =w000000000RBP, ~S"=RB>P,;
00000000 3524) 000RBP, = R>(P]|P,) ~ R>(Py| Py)
DO0OOODOORPQ = RCP(w,R) 00000000 3.5.2(5) 000
P' = Ri(P)Q) = R>((P|| 12))Q) ~ Re((Py | F»))CP(w, ) DODOO
000008 =Re((Py||P))CP(w,R)OD0O0 € ,00 a; =w0
O we€cal(R)ODOO0O00Choiced Act0O0O S; S 000000
00 OChoice; 0100 S - S0000000a=7008-% 500
P ~S0000
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e Supp, 00000000 P,L,OO0O000PR|P - P,00 P =Rp>P,
00000000 PP, -2 P,000000000 Sync, O Sync, O

gdn

— Sync, 00000000 PO P,O0OOOPR|P,-% P,=P/|P,00
a¢ L,000000000000000000000 Com; 0 Coms
0 Com;0000000000000O000

(a)

Com,; 0 00000P - P/00 P, = P,000000000Supp,
00 RpP, % RGP O0O000ORBP ~ Y ey, ayy(R>Py;)00
000000 S"00000%,e), ay.(R>Py) 2 S"00 R>P| ~
$"0000000000000 Choiced Act00000000
00000 je /108 =RpP,;00 a; =000000
O0ORBP ~ S =ReP; 00000000 3524)00 P =
R>Pl, = R(Pl||P) ~ Ri>(Py||P) 0000000008 =
R(P;|P)00000je ;00 aé¢ Le000000Choicel
Act000 S 2% 9000000000 Choice, 000 § 2% &
0000000a=a;008-%900 P ~50000

Com,000000P - P,00 P=P,0000Com; 000
000000000

Com; 00000000 wOOOOOP, - P00 P, -2 P
00 a=7000000000Supp,000R>P, —%5 Ri>P| 0
ReP, -5 R-P,00000000000€{1,2}0000000
RBP ~ Y e ai(R>Py) D00, ) onj (R>Pyy) —5 S/ 00
Yiesn 2. (R>Py) = Sy 00 R>P ~S/000 S/000000
0000000 Choiced Act0000000000000 j; € J;
000008 =RBP;, 00 oy, =wO D0 ayy, =0000000
000ie{1,2}0000 ReP/ ~S/=R>P,, 00000000
35.2(4)000P = R>Ply, = R>(Pl||P) ~ Ri>(Py, | Py,) 0O
00000008 =R(Py,|Py,)00000j € 00 ayj, =w
00 ag;, =w000000Choiced Act000 S — 000
000000 Choice; 100 § -5 0000000a=r700
§-%500 P ~580000
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~ Sync, 00000000 @ P, PO0000R - pPoop -2 p
00 a=|a00000 e {1,2,00000Supp, 00 RP, %
R-P 0000000 RGP ~ Yey, 0 (R1>P,) 00000 S0
0000Y,e, 0. (R>P,) % S/00 ReP/ ~ S/0000000
00 Choice 0 Act 0000000D00000 j; € ;00000
S'=RpP;, 00 ayy, = [/ 000000000 i€ {1,220000
RpP ~S'=RpP; 00000000 3524)000P =RpP), =
R(P|B) ~ Ri>(Pyy, | P,) 0000000008 = Re-(Py, || Poy,)
00000j € ;00 ay, = |[o) 000000 Choiced Act 000
S, -4 00000000 Choice, 100 S % 0000000

a=la00S5-9500P~50000

e SSync, 00000000 P/O0OOOORBP, — R>P/ 00 P,=P|| P
00 a=70000000000 RePy~ Y ey 0. (R>Py;)00000
S"00000Yc), aj-(R>P;) — S"00 R>P{~S"00000000
O0D000 Choicel Act0000O0OO0OOOODODOOO je ;00000
S"=RpP;00 q; =700000000RBP ~S"=Rp>P,;000
00000 3524)000PFP =RpP,=Rp(P||P) ~R>(Py||R) O
000000008 =Re(P,|R)D00000je 100 aqj=7¢ LcO
O00000Choiced ActO0OO SlﬂS’DDDDDDDDChOicmDD
O SﬂS’DDDDDDDa:T:aUDD S-.s8'00P~S0000

e SSync,0 0000000 P,O00OORPP, - R>P,00 Ply,= P, | P,
00 a=70000S.Sync, 000000000000

(4) S~ S'00000000000000000 Choice,..c 00000000
gbobooooooboood

e Choice, 0000008, =Y jcn{ony . (R>(Py || P2)) :ary ¢ Lo} —— 5
D000D0D0DDDO Choiced Act0000000D0DODOOO0O jeJ, O
00008 =Rp(Py|R)00a=a; ¢ LO0O000O0O00 € J,00
0000 Choiced Act 0000 ey, arj.(R>Py) —% R>P; 000
00000000 RePy ~ Yy, aip.(R>-Pyp) 00000 P{OOOCO0O
R>-P, 2L R>-P/00 RpP, ~R>-PO000000O0O00 3.5.2(4)
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0008 =Ri(Py||P) ~Ri=(P||P)000000000000000
000

~a; #700000000000 ReP, 2% Re-P, 00000000
0 Supp, 000 00000000P 2% PO0OO0O0OOOOO0O
a;; ¢ LeO0O0000Com O Syne, JO0OP || P, 2% P|P,000
OD00000Supp, DOORM(P|P) % R>(P/||R)0000
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0 PIQ~PQOO00P|T~RTOO000P ~, ,OOOO 1

OoOopocCcsO0O (0o 243)00000000000DOOOOOODODDODOOO
gobobooooboboooaon

00 454 0000000000SO00000O0O0OOOOOO0O (monitor bisim-
ulation up to monior equivalence) D D000 0PSQU IO 0000 a€ ActO ae N
0000000 4000000000000000

() P PO000O0 QOUO0D0Q=qQ 00 P ~,S~,Q00000
(1) Q=% Q000000 POOODOP=% P00 P r~pSa, Q00000
(i) P=P' = P'"00 a¢ mon(P)000000 Q,Q'00000

Q=Q =Q"a¢ mon(Q),P'~,S=~,Q' 00000
(i) Q= Q = Q'00 a¢mon(Q)000000 P,P'OO0DDO

P=P =P .aé¢mon(P)P'~,S~,Q"' 00000

0000PSQO (P,Q)eSO000P ~,S~,, QO0P ~,, P00 P'SQ"00
Q"~,Q 000 P'0Q000000000000C0CO I

gobobooboboogooobbbobobuoodooboobbobboooooon
gbobboooobbdoobuobboooobobobobooobo

00 4.5.3 00 SO0OO0OO0OOOOO0OOOODOODOOOOOODOSC=, 0000

00 000~,S=~,000000000000000P~,,S~,Q000000
00000 R0 Q,00000P=, P00 PSQ,00 Q,~, Q0000
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() P PPO0ODO0O0O Pr,, APOODO0 P,O0OOOP =% P00 P ~,, P
00000000000000000

eq € 7(00D000OO0D)DODOOODO P EP{DDDDQ%QDD
P =, Pl =PSSO, ~, Q=Q 00000000 (A #P)00O0O0O
O07re700000PR = PO00000O0O0 ASQ,00000 Q0
Q=Q,00 P/~,8S~,Q, 0000000 Q ~,Q0000000
0QUD00D0Q=qQO00 Q’lme’DDDDDDDDDDDQ%Q’
00 PP, Pl~,S~,Q, ~,Q 0000

e a¢70000P =P 00000000 PSQ,0D0000 Q00000
Q=Q,00 P~,S~,Q, 0000000 ,~,Q0000000
0QO00000Q==Q 00 Q’lme’DDDDDDDDDDDQ%Q’
00 PP, Pl~,S=~,Q,~,Q 0000

(i4) a ¢ mon(P)0D00O000 P, PLOO0OOO P/O P/OO0OCOOP, = P, = P!
00 a¢mon(P))00 P, P/OOD0O0O0OOOOASQ,0O0000000
Q0 QIDO000Q; =@, =000 a¢ mon(Q) 00 P =,S~, Q]
OO00D0D00000ddDoOo @ ~, QUOODDODODOO Q0 QRIOO0ODOO
Q=0 =0Q"'"00a¢mon(Q)00 Qf ~, Q"UIDT0DLOOOOP =,
Pl=~,S~,Q|~,Q"'0000

(4)0 (v) 0000000000 G) 0 () 000000000000~ S ~,00

000000000000, 00000000000 0DOO0O0~,, $ ~,,C =, 00

goobooogoooood

S = =S8 C =,S~

m g%m

00 452000 4540 00000000000000000 PSQ 00 P =,
S~,@QO00000000000S000000000000000000000 ()
0000 P-%PO0 P2 P00 0000 a¢mon(P)ODO P= P = P’
00 a¢mon(P)000000000000000O0D00000000 (i),---, ()0
0000000000000000000000000000 45200000000
0000000 P a,,S~,QO0000000000000000
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00 4.5.4 00 SOOPSQUUONO0OO0 e At ae NODOOODOOOOOOO
gooon

() P2 PO00DO00QOODN0DQ=5Q00 P~S~, Q00000
(i) Q%> Q000000 POOO0OOP=% P00 P ~,S~Q 00000
(i) a ¢ mon(P)DOODOOD Q,Q"0000D

Q=Q =Q"a¢mon(Q),P~,S~,Q 00000
(w)ag¢mon(Q)DOO OO0 P,POOODOO

P=P =P a¢mon(P)P'~,S~,Q00000

ooooosOO0O0O0bO0bOobO0bOoU0oOoO0bUobDOoUobDbO~OODOoOobODbO

00 PSQOOOOO0 4540 (i),---,(iw) 0000

(1) 000P= P OOOO0OO00QOOO0ODQR=—QO0O0 P ~S~,Q000
(x) 00 0= 0000000000000 000O

e 0 0000OP=PO0O00O0O0OQ=QO0 P~S=,Q0000

e PP = PO0OOOPSQOD PP, 00000000 Q, 00
000Q = Q00 ,~S~,, 00000000000 RO Q.0
P ~P00 P.SQ,00 Qo~, Q:0000P ~P00 P= PO00O
00000 P,00000R = P,00 P ~P,00000000RSQ,0
0P— P00000000000000000Q,00000Q, = Q)
00 P~Sa,,Q,00000000Q~nQ: 00 Q= Q,0000
0000 QDO0000DQ, =Q 00 Q,~,Q 000000000000
Q= Q — QOO0 P ~P,~S~, Q,~, Q0000

e 0000()DO00000

00 P=% PO0D00DQO00D00Q=-%Q00P~S~, Q0000
00 P=% POOO0O PO PO00O0O0OP— P, % Pl— PO0O0
000 (+)00000 Q00000Q=—Q,00 P~S~, Q000000
O00P -2 PO0000000Q,00000Q, =% Q.00 P ~8~,Q!
0000000000000 0P — PO00OO (x)00000 Q00000
QO — Q00 P~S8~, Q000000000000000~Cs, 0000
00Q=2Q'00 P~,S~, 0000
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(it) P = P' = P"00 a ¢ mon(P)OOODOPSQUOODOODOODO QOO
000Q = Q00 P ~8 =, Q00000000000 PO Q00
O00P ~ P00 PSQ, 00 Q, ~, Q00000000P ~ P, 00
a¢gmon(PY00e¢ APODOODOODDODOARSQ, 00000000 Q0 Q700
000 =Q=QQ/00 a¢mon(Q))00 P~,S~, Q00000000
P~p000000OCDOPAOODODOOR=PO0P ~pPOO0OOCOOOO
PiamS~,Q'0 P=P 000K 00000QID0NONONQ! =Q 00
Pla, S~ Q0000000 0000000Q: ~m Q00 Q1= Q) = Q"
00 a¢mon(Q)) 00000000 QU Q"O0000Q=Q = Q'00
admon(Q)00 Q" =~, @U0DD0D0D0DNNIQ= Q= Q = Q"0
O P'~P~,S~,Q=~,Q"0000

gboobbboooobbbob 453000 4540000000000000O0O00
bbb 4580000000 454000000 4590000000 45300000

4.5.2 0O0OOO

gboboobobuooboobuoobuo +00b0ob0bOooobbobobobo
gboobooboobobobobbobobbobbodooobobbbooobbobobobn
gboboogbodboddobooodbooooouoouobuoouobo =00oooo

0gd 4.5.5 0000O0O0O =0
== {(n,7):7, 7 € T}U{(a,) : a« € Act}
goboobobooobobbboooooooo 1

goobobbobuooboobobboooboboon

00 4.5.6 000000 acAct0000O00ODO0 30000000 0D0O0OOPO
Q00000 (monitor congruence) 00 0O0000P =, Q0000

() PP O00000QUCON000NQ=Q,PryQ,a=a/ 00000
() Q% Q000000 Q0 «OOD00OP=25 P, Pry@Qa=d/ 00000
(17i) mon(P) = mon(Q)
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000000000000 DD0=%0000-000000000000000
00000000000000000000000000000000 (P ~,, Q)0
00000000000000000 (i) 0 (iv) 0 mon(P) = mon(Q) 00000
0000000000000 455000456000000000000000000
0000000000000000000000000

0d 455 P =,P0000000 Q0000 A+Q=,P+Q0000
00 P=,R000000456000 (i), (), (()000000000000

(i) A+Q P 000000000 Choice; 0 Choice, 01 00000000

e Choice; 00 000O0P -% P O000OP =, 00000000 PO
O00000R=-2 P00 P ~,P,00 a=a/'000000 P,=2 P}
000000 100000000 Choice, 000 R+Q=2 00000

e Choice, 0 00000Q - P/O000000000Choice, 0100 P+
Q- P 000000000R+Q== P00 P ~,P00a=al
0oo0

() 000 ())0000000

(t9) OO0 P =, P,OO0mon(P) =mon(P) 000000000mon(P+Q) =
mon(P1) Umon(Q) = mon(Py) Umon(Q) =mon(P,+Q) 0000

00 4.5.6 L(P)ULR) #N 0000000 QOO00 P+Q=~, B+Q0000
P =,P00000000LP)0POO0D0OODOONONONONONODOONOO0O0O000O
O0000P 0 PROOODONOONOODOOODOODOOOOOOOOOO

00 L(P)ULMPR) #N000000b¢ L(P)ULPR)O000000 00000
B=p'00000000000000 P+B~,, ,+B000O0

(i) P, “““ P/000OChoice; 000 P+B S POO0O0O0O Pi+B ~,, P,+B
00000 P00000R+B<E P00 Pl ~,P,0000
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e 0" ¢ 7000 (0" =af")D0B=b700000000000000000
O00ae£(P)0D0b¢ L(P)000000BO 000000000
0000R+B< PO ,O0DO0OOOOOOOOOOOOR S PO
0 Pl~,P,0000

e 0" € TODODO (a0” =P0OP, = L,+BOOOODD0O0O0D00OB=b7.0
0w 000000000P, =R +B0 W 00000000000
Pl ~, P,000000P 00000 000000000000000C
0O0b¢ £(P)C L(P)0000000000000000000P, # P+B
00000000 700000R+B=% P,O0000BOO0OOOO0
000D00000000R+B== P,0 0000000000000
P, == P,00 Pl ~, P,00000000a",7€7000a"=r0000

(¢) 000 ()ODO00OO00O0O0O0ODOO
(17i) a ¢ mon(P) 0000

e a=b0000D0000Ob¢EL(R)00D00

e aAb0000a ¢ mon(Py)U{b} = mon(P;) Umon(b?'.0) = mon(P, + B)
00000000000 A+B, RL+B0O0000 PO P/OODOOO
P,+B=P=P/00a¢mon(P)00 P+B~, P/O0DO0O0O

0000 700000R+B== Py=P/O0000000O00OBOOOO

0000000000D00OChoice,000R, = P/O00000OOO0ORA+B
O 000000000P+B~, PYOOOOR 00000 OO0
0000000000000000000 b¢ L(PY)CL(R) 000000
O0000PR+B=P,O0000a ¢ mon(Py) = mon(Ps+ B) 2 mon(Ps)
goon

000 Omon(P) Cmon(P) 0000000 mon(P) Cmon(R) 000000
mon(Py) =mon(P) 0000

OO00000b00obO0ob00ooboooboogoceccsuoboboobopoooboo
gbhoboogbobobooaoboon
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00 45700000 FO FOOOOOD X; ((€)00000000000000
00000 P, (i€ )00000E{P/Xi}ier =n F{P/X:}csO000E =, FOO
000000E{P/X;}:,;000ic/00000EDD0ODDOOOOOO X;000
00 pO0O00DO000O0D0O0O0O0OO0 .

gbood4s5700b04s5800000b0b0bonooooboobobooonoog
goodobobogobbobobooobn

OO0 4.5.7 B, =, £,00000000000000O00O000

(1) a.Ey =, a.Ey

(2) Ev+F =, Eb+F
(3) E\|F =, Es|F

(4) E\\L=,, E,\L
(5) Erlf] =m E»[f]

00 00000 E0 FOOOOO XOOOOOOPEP,,.0000

(1) () (a.E){P/X} 25 P O000Act00 a=a'00 P =E{P/X}0000
000Act 00 (a.By){P/X} 5 E{P/X}00000000E, =, B,000
E{P/X} =, E{P/X}0000

(199) 0O 00 Omon((a.Ern){P/X}) =mon((a.Ex){P/X}) 0000

(2) (Ey + F){P/X} = E\{P/X} + F{P/X} 0O D0 E{P/X} = E{P/X} O
0000000 455000E{P/X}+ F{P/X} =, E{P/X} + F{P/X} =
(B, + F){P/X}000O

(3) (i) (Ey|F){P/X} = E{P/X}|F{P/X}¥S POOOOO0OOOOOOOOO
00000000000000

. Com; 00000000 PLO000OE{P/X} 2 P00 (9e{,?7}00
O a¢mon(F{P/X}))00 P =P/|F{P/X}000000 E{P/X} =,
E{P/X}00000 P,0 ¢ 00000 E{P/X} %L P00 P ~, P,
00 e =¢0"000000000AD00000 o =a¢mon(F{P/X}))
0000000000000 E{P/X} %% P/0 Com, 0 1000000
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00E{P/XYF{P/X} %L p|F{P/X}00000000P ~, P,00
000000 45100 P = P/|F{P/X}~, PJJF{P/X}0000

2. Com, 00000000 QOOO0O0F{P/X}S o0 @e{,?}00
0 a ¢mon(E{P/X}))00 P = E{P/X}|Q 000000 E{P/X} =,
E{P/X}000mon(Er{P/X}) =mon(E{P/X}) 000000 e{!,?}
000 a ¢ mon(Ex{P/X}) 000000 F{P/X} ““S ¢ O Com,
0 1000000E{P/X}YF{P/X} L E{P/X}|Q'00000000
E{P/X} =, E,{P/X}0O0000000 45100 P' = B {P/X}Q ~m
E{P/X}@Q000O0O

3. Com; 00000000 ny, no, ¢, P/, Q00000E{P/X} “ P
00 F{P/X} X2 Q0060 {,100 ¢ =com(0) 00 ny > ny 00
n=mn-n00 PP=P|Q 00000000 >n, > 100000 Oad™ O
D00000000D0000000000 E{P/X} =, E{P/X}0000

af™l

0 P00000E{P/X} S P00 Pl ~, P,000000000 Com,y
ah(n1—n2)

000000Coms0d 1000000 E{P/X}F{P/X} =" P)Q' O
000000P ~, P,0000000045100 PQ ~, PJQ'0000

4. Com,000000Com; D OO0 OOOOODO

5. Com; 00000000 ny, no, P, QO00000E{P/X} % PlOD
QY Qooee{?,7}00n=m+n00 P=P|QO000000
D0fe{?,7}000000«mD000000000000000000
0 E{P/X} =, E,{P/X}00000 P,00000E{P/X} S POD
Pl~, P,000000000 Com0 00000Com;0 1000000
B {P/X}F{P/X} 22 P’ 0000000P ~, 0000000
0 45100 P/|Q ~, PJQ'0000

(i) 00 Ey{P/X} =, Ex{P/X}0 0 Umon(E1{P/X}) =mon(E{P/X})0 O
000000 O0Omon(E{P/X}F{P/X})=mon(E:{P/X})Umon(F{P/X}) =

mon(Ey{P/X}) Umon(F{P/X}) = mon(E{P/X}|F{P/X})0 00O

()0 (500000 (3)0000000000 '
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00 458 00000 E,F, (ic)00000 X, (je)000000000000
0ie/00000A Y E{A;/X;},e; 00 B, Y F{B;/X;};c;00 E; =, F; 00
D00iel000004 =,50000

00 00000 E0D FOOOOODOXO0O0O0O0O0O0AY¥ E{4/X}00 BY F{B/X}
00 E=, FOOOOA=,B00000000000004540000000 800

S={(G{A/X},G{B/X}):GUOOOO XOOO }
gobbooobobboouooooboogo
(1) a € mon(G{A/X})0000aemon(G{B/X}) D OO0

(2) 00 G{A/X} ““ pPOODOO0 Q0 d00000G{B/X} 2L @O0
PS=~,Q 00 =do"0000

000(1)0 a€mon(G{A/X}) D000 G{A/X}000000000000000
0ooo

1. G=X0000G{A/X} =X{A/X}=A000aemon(A)0O00O0DOOOOO
AY E{A/X}0DD00000ae mon(E{A/X})00000000000000
000 a € mon(E{B/X})00000000E{B/X} =, F{B/X}0ODOOO
O00a€mon(F{B/X})00000000BY F{B/X}OOOa € mon(B) =

mon(G{B/X})0000O

2. G=C0000000000ee G{A/X}=C{A/X}=C=C{B/X} =G{B/X}
goon

3. G=a.G'0000a € mon(G{A/X}) = mon(a.G'{A/X}) = mon(a.G'{B/X}) =
mon(G{B/X})000O0O

4. G = G1+G,0 0 00a € mon((G1+G2){A/X}) = mon(G1{A/ X }+G{A/X}) =
mon(G1{A/X})Umon(G{A/X})000000a€ mon(Gi{A/X}) 000 a€
mon(G2{A/X}) 000000000000 a € mon(G1{B/X}) OO0 a €
mon(Go{B/X}) 00000000 O0a € mon(Gi{B/X}) Umon(Go{B/X}) =
mon(G{B/X})000O0O
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00000 G|G.0G[f]0G\LO0O0O0O0O0G=G,+G, 0000000000000

00 (2000000G{4/x} S PO00000000000000000000
000000GO0000000000000

1. G=X000000000G{A/X}=X{A/X}=A0000000004°% P/
00 AY E{A/X}0O00000RecO D E{4/X} S POOOOOOOOO
0000000000 Q0 00000E{B/X}22 Q' 00 PS~, Q"0
0a"=¢""000000000E=, FOOOE{B/X}=, F{B/X}0 OO
00000 Q0 «¢00000F{B/X}4E Q00 Q"~,, @O0 a0 =d6"
00000000B Y FP{B/X}OODOOOORecOD B 2% ' 0O0ODODO
O0000G{B/X} = X{B/X} =B %L Q00 P'S ~p Q" ~p Q 00
ad” =d"0" =a'0" 0000

2. G=CO000000000G{B/X}=C{B/X}=C=C{A/X}=G{4/Xx} "
PO00D000OP =P{A/X}SP{B/X}=P000000000G{B/X}<&
P00 PSP OO =e"0000

3. G=a.G'00000.G{A/X} S POO00O00ActO0 a=af"00 P =
G'{A/X}0000000Act 00 G{B/X} = ab".(G'{B/X}) “ G'{B/X}
D00000000G{B/X} <L ¢{B/X} 00 P =G{A/X}SG'{B/X} O
0 af" =" 0000

4. G=G +G,0000G{A/X} =G {A/X} +Go{A/X} % pOOOODO
000 Choice; O Choice, 0 0000000000 0Choice; 1000000
00000000G{4/X} S PO000OD00O00O0OO0O0OOOND Q'
0d00000G{B/X} %2 QU0 PS~, Q00 a"=a9"000000
00O Choice; 00 G{B/X}=Gi{B/X}+G{B/X} L @'00000

5. G=G1|G,0000G{A/X} = Gi{A/X}|Go{A/X} Y POOODODODOODO
0 Comy,3,; 0000000000000Com, 0000000000000
00000000000000 PO0000G{4/X} S Pon (9e{,?}
000 a ¢ mon(Go{A/X})) 00 P = PJ|G{A/X} 00000000000
00000000 Q,0«00000G{B/X} %L Q00 PS~,Q,00
af® =d/0" 0000
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e 0 c{,720000Com; 0 10000000 0G{B/X}G{B/X} “L&
0/|G.{B/X}D 00D

e 0000 (a¢mon(GofA/X}) 00000400000 0em 00000
000000000000 0e=d00000000O0O0O0O0O0O0O (O
O0a ¢ mon(Go{B/X})000000000Com, 0 100000000
G1{B/X}|Go{ B/ X} & Q4|Go{B/X} 00 DD

O0O0PS~, @00000Q/00000PSQ/00 Q~, Q0000000
00000000 X000 G00000P, =G {A/X}00 Q!=G,{B/X}0
0000000G =G|G.00000P = PlGo{A/X} = G {A/X}|Go{A/ X} =
G'{A/X}0Q!|Go{B/X} = G{{B/X}|G-{B/X} = ¢'{B/X}0000000
00PSQ!G{B/X})00000000Q! ~, Q00000000 4.5.10
00Q!G{B/X} ~m Q,|Go{B/X}000000000PS(QGo{B/X}) ~m
Q,|G-{B/X} 0000

00000 Gi[f|J0G\LOOO0OO0G=G4|G, 0000000000000 1

oboobobboobobobooobobooobboboobobobooob oo
0”0 ‘0007000000000 (00 2413000 24.14000)0

OO0 458 0000000 OO0 XOOOOOOODOOO o.F0O Y, /50 X0O
OoobooooXdo pOooooboobooboog 1

OO0 459 0000000 pOOODOODOOOOD XU PODODOOO .00
0000 a¢70000X0 FOODOOOOODOOOOOOOOO 1

0000 (00O 24.16) 0000000000000 0O00O0OOOOOOOOOOO
gobobobbooogoodaada

00459 0ie/0000000000 E00000 X, (je00D0O00OO
X;(jel)0 E;0000D0000000O0O0OOOOODOOOOOOOOO el
0000P = E{P;/X;}iecr 00 Q; = E{Q;/X;};; 00000 iel000O0
P=,Q,0000
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00 00000 EODDODO0XO0000XO EO0OO0O0OO0O0O00000000O
0000000000P=, B{P/X}00 Q= E{Q/X}0000P=,Q0000

OO0000000D0 4530000000 SO0

S={(G{P/X},G{Q/X}):GOO0O00 X0000000000 }

gobbooobobboouooooboogo

(1) a € mon(G{P/X})0D000a€mon(G{Q/X}) 0000

(2) 00 G{P/X} 24 PO00000 QO «¢00000G{Q/X} 4L @O0
Pr,S~,Q00a¢"=d0"0000

(3) 00 G{P/X}= P = P'00 a¢mon(P)000000 QO Q00000
G{Q/X} = Q' =Q"00a¢mon(Q)00 P'~,S~,Q'0000

gooooboobood

(1) 0000000458000 (1)0000000

2) G{P/X} < pPOOOOOOOOOOOOOOOOOOOP =, E{P/X}O
00G{P/X} =, G{E{P/X}/X}00000000000 P, P, P",a 00
000G{E{P/X}/X} =P 5 Pl — P00 P ~,, P'O0 ab" = 0"
00000000X0O G{E/X}000000000000000000000
000000000000000000000000000000000000
G{E{P/X}/X}= P 0000 POO0DO0OO0D0OO0O0O0O0OOOXO0000O
000000000000000 GO0G{E/X}= G,00 P, =G {P/X}
0000000000000G{E{Q/X}/X} = G{Q/X}0000000

0000X0 G,00000000000000000000PR, =G, {P/X} %%
P O00XO000D0D00D00000 ¢,000006;, 2% ¢/ oo P =
G{P/X}00000000000G{Q/X} 2 ¢{Q/X}00000000X
0 ¢000000000000000000 G{P/X} =, G{E{P/X}/X}
00000000000P, = G{P/X} = P/'00000O0O00 P00
00O0G{E{P/X}/X} = P"00 P' ~,, P"O0000X0O G{E/X}D
00000000000 00000000X000000000000000
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0000 ¢O00000G{E/X} = ¢'00 P" = G{E{P/X}/X} 0D

0000000QOO0OD G{E{Q/X}/X} — G{Q/X} 0000000
G{Q/X} =, G{E{Q/X}/X}00000000 Q'00000G{Q/X} =
Q'00 G{Q/X} ~, Q'0000

00000000 0G{E{Q/X}/X} = G1{Q/X} D G\ {Q/X} = Q"
00000000G{Q/X} =, G{E{Q/X}/X}00000000 Q0 o0
D000G{Q/X} 22 Q00 Q" ~, QU0 d6" =a¢"9" 000000000
P~ P~y P = G{E{P/X}/X}SG{E{Q/X}/X} ~om Q" ~m Q' 00
ad” =d0"=a"0"0 000

G{P/X} = P' = P'00 a ¢ mon(P)0000(2) 00000000000
G{P/X}=PO0O0000QUI0XOOOODODOOOOOOODOOOOOO
0 G'O00000G{Q/X} = Q.00 P =, G{P/X}SC'{Q/X} ~m Q1 O
O000000ae¢mon(P)0O0 P=pP'O000XO0O0O0OODOODOOOOO
0000000 G0 G"O00000G{P/X} = G"{P/X} = G"{P/X} O
0 a ¢ mon(G"{P/X})00 P"~,, G"{P/X}000000000000000
G{Q/X}=G"{Q/X}=G"{Q/X}00 a¢mon(G"{Q/X})D0DO0O0O0O0O
G{Q/X}~, 00000 QUIQ'IIIDDY, =@ =Q'00 a¢ mon(Q')
00 G"{Q/X} ~, Q"00000000G{Q/X} = Q = @ = Q'00
P’ =, G"{P/X}SG"{Q/X}~, Q"0000

4.5.3 0O0OO

goobobobuobobogobobobbbobiboooooobobbbooooooon
0000000000000 0000 (DOooooooO)ooooooooooooo
goobobbbbodoooooooooooobobobbobooooobooooboobooo

gobodgoogd

goggboobbodoobboobboooobobbobobooobnbooo
gooboboooodoooobbboobuoobooobooboboobobooboon

goboboobooogd
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00 4.5.10 0000000000 SOO0O0O00OOO (strong monitor bisimulation)
O00000(P,Q)esSOO00O000 acAt0000000 300000000
ooooooo

() PP OO0000QODODNONQ=%qQO00 (P,Q)eSOOOO0D
() Q-2 QUDD0D00 PO0ODODOP=S P00 (P,Q)eSOO0O0
(1ii) mon(P) = mon(Q)

00 4.5.11 00000000000 SOO0O00O (P esSOO0OOOODO PO
QU DO0000 (strong monitor equivalence) D0 00000 P~, QO OO0 1

00 4.5.12 000000 aceAct00D0O0DODOD 300000O0000O0O0O0O0OPO
QD0 O00000 (strong monitor congruence) 0000000 P =, QOOO0O

() P PO0O0000QUC00000Q=Q,P~,Q, a=ad 00000
(1) Q%> Q000000 Q0 J00000P P, Py @ a=a’ 00000
(1ii) mon(P) = mon(Q)

0000000000000000 (@), ) 00P=P =P, Q=Q =Q"'00
000000000000000P~,, QOO0 P~, QOO0O00O00COOO0O
00000000 0000000

al.(b?.0 + 7.7.07.0) =, a!'.7.67.0, all.(b7.0 + 7.7.67.0) %,,a.7.07.0

O000ooo0Od el (?0+7707.0)0 «c 000000000000 0OOOOOOO
obooboobbooooooboobobooboobooboobbOoOoo bbb
goobobdoooogooobobboodoooobobooooooobobooo
gboboooboogooooobbbboooboobooboboooobbobbobooboo
goobbboogoobobbooooboobobobbooooobobobooboo
gobooooobobobobooobn

OO0o0DO0DOO0oooooooo A4,0000o04ad
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00 4.5.13 200000000 PO QUODOOODOUOD Ay0D00000DOOO
ooAFP=RUOIDDODO0OO0O0OOUOD A4/000D0D0D00D0O00O0ODOO

M1 P+ P =P+PF
M2 (P + P)+ Ps =P+ (P> + P3)
M3 P=P+P
M4 P=P+0
1 (Xien) @)™ P e bi(9:i)™.Q5)
= Y iemtai(0:)™ . (P/Q) : 0; € {1, 7} or a; € mon(Q)}
+ Yiery) {0i(0:)" . (P1Q7) = ¢ € {1, 7} or b; & mon(P)}
+ Ytien) Dem 1ai(0:) ™) (P|Q)) - a;i = b, 0; € {11}, 6, = com(6;), m; > n;}
+ Xien) Z(jelg){bj(‘bj)(nj_mi)'(Pz‘/|Q3‘) ta; = by, ¢; € {,1},0; = com(¢;),n; = mi}
+ Ytien) Ljer 1ai(0:) ™ (PQ)) < ai = by, 0; = ¢; € {2, 7}}
2 (Xgen ai(0)" . P)\L
= Yentai(0:)".(P\L) : a; ¢ L} + Lental®.(P\L) : a; € L,0; € {!,!},n;=0}
3 (Xen @i(0:)™ . P)f] = Xgier f(a:)(0:)".(F[f])
Tl a.(r.P+ P)=a.P
T2 P+a.Q =P if a.Q € taus(P), mon(a.Q) C mon(P)
T3 a.(P+71.0Q)+a.Q=a.(P+71.0Q)
T4 7.P=7.P

O000teus(P)ODOO00OO0 POOODOOUOODOOOOOOOOOOOOODOODOO
ggdo

{a.P'} (P=a.P,a¢T)
{a.P'} Utaus(P’) (P=a.P,aeT)
taus(Py) U taus(Ps) (P = P1+P2)
0 (0ooo)

taus(P) =

M1-40E1-30 T4 0000000000 0O0OO0DOO-O0D00DDO0O0O tausO
00000000000 00000DODO00000DOO00DODODO00000o0o0O0OA;
goooobobobogoobbbuooobbbouooobbboooooooboobo

gbhodgobuogoobbboooooboooo
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00 45.14 00 P=Y",.;0000P00000000000POO00O0O
000000 o.P,0 POOOOODOOODOOO .

OO0 4.5.15 D0 000000 boobobooooopPObObbOObDOOO

(i) P=yY",.P00000PO000OOOOOOO
(i) 00 PLE P OO0 (0472000 aemon(P)000O0PYS POODODO

0000000000 00DooooD A4y/0000000000D0ODODO0O000O
goooo

00 4.5.10 POO0O0O0O0O000O0000 P2 P00 (47000 a€ mon(P))
DO00O0A+FP=P+a".PO00O0O0O

00 POODOOOOOOOOOOOOOOOPL POOOOOO3000000
goobon

1.« PO POODOODOOOOOOODOOOOOODOOMI-300000A,FP=
P+apm.POO0O0O

2. ¢0".Q0 POOOOODOOOOOQR== PO0O000O00O0O0OO0O0OOA F
Q=Q+7P x)0DDO0O0O00D0DO0O0DO0O0D0O0O0OO

AFP=P+ad".Q by M3
=P+ad".(Q+T1.FP) by (1)
=P+ab".(Q+7.P)+ab™.P by T3
— P+ ab".P by (+1), M3

3.5 QY Q= pPO0O000QOODO0D QS Qoode.QOQ
000000000000 D000000 tews00O00O0OOPODOOODODOOO
P QDO00000a".Q € taus(P) (x2) 000000000000 47D
00 a € mon(ef”.Q)000000a".Q S @ = POOOOODOOOO
O000A Faf".Q =afd".Q +ab".P (x3) 000000000 (47000
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a€mon(P)000O #7000 mon(ad™.Q") = {a} C mon(P)) (x4) 0000
gboobobobooobboboad

AFP=P+ad".Q) by T2, (x2), (x4)
=P+ af".Q' + ab™.P" Dby (x3)
=P+ ad". P by T2, (x2), (x4)

goboboogobbbuoooobbboooboboooooooboon

00 4.5.11 P~,, Q < (P%,Q)000 (P, 7.Q+Q)000 (r.P+P =, Q)
00 («)000000000000000000000000000
(=)0000P~,QO000000030000000000000

.00 PO0O0OOP 5P ~,Qx)0000P, rQ+Q0000

@)Pﬁ+PDDDDP:mQDDDDDDDDQDDDDDQQQQDD
P~,Q 000000 «0000000000000Q=Q 00000
D0007Q+Q —-Q=QU00a=700000000 (@=a)000
TQ+Q=Q 0000

(i) 7Q+Q Q' 00000000000000000000000000O0

(1) Choice, 0 000007.Q Q' 00000000ActDd a=700
Q'=Q000000000G)00P 5P ~,Q=Q00 =7
0ooo

(2) Choice, 000000Q - Q' O0000a¢TO000P~, QOO
0000P=% P00 P'~,Q@O0000000 (ee7)0000
00000P ~, Q00000000 PPO00O0OOP = P'0O0
P'~,QO00000000G)00P -5 P =P O00a=r70
000

(i1i) P ~p, Q OO0 mon(P) = mon(Q) D00 0Omon(r.Q) = 0000000
mon(P) =mon(r.Q+ Q)0 000

2. 00 Q’DDDDDQLQ’:WP(*Z)DDDDDDDDDDDDDDDD
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3. 0000000 «3)0P=x=,QO0000

() P2 POODO0OP~,QOO0DODDD QUODODQ =" Q00
P~,Q0000c¢T7TO0000Q=@Q 00000000 (a=7€7)00
0000000Q = Q0000000 Q=Q0000P P ~,Q=Q
0000(3)0000000000000700000Q==Q' 00 a=70
ooo

(i) 0 ()0O0O00O00GE) 00000000

00000 4510000 4511000A4, 000000000 00DODO0ODODOODO
goobbbboobobbobdood 451200040

00 4.5.12 PO QUOUODO0ODOOOO0ODOOOOOOOODOOOOOODODOO
P~,Q << A FP=Q

00 («<:000)0000000000000000A, 0000000 45.120 30
000000000000000000T2(e.Q € taus(P) OO0 mon(a.QQ) C mon(P)
O000P+ae@Q=,P)0000000OO

() P+aQ % POO0OOODOOO0 POOOOOOOOOO0OO0OO0O
P pPO0P~, PO0000000O0DDDA 5P O000a=a'00
P=QO00000000aQ € taus(P)D00P=-QO0000

() P25 PO00000000P+a.Q 5P 0000

(27i) OO mon(a.Q) € mon(P) 00 Omon(P+ a.Q) =mon(P)0000
(=:000)P=,Q0000000M40 E1-3000 45100004 FP=PR0O
OAFQQE=Q,00000000000000 RO UOOOODODOOOOOOA,
00000000 P2, Q0000000004 +FP =00 B0 Q0000

O000000000000000000000O000 PROOO (depth(Py)00O0) O
Oo0p/RpUO000000000O0ODOO0ODOOODOOOOObDODbOOn
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000000 A+F0=0000000000010000000000(d.P)0 P,
000000000000000000000R Y P000000000R 2, Qo
00000000 Q0@ 00000Qy %S Q,00 P ~,Q,00 ab"=a¢"00
0000006047000 a€mon(By) =mon(Q,)0000Q,0000000000
00d6m.Q,0 Q,00000000000000P,~,Q,00000000 4.5.110
0D0P~, Q000 P,~, rQ,+Q,000 r.P,+P,~, Q0000

(1) P,~,Q,0000P,0 Q000000 RO Q000000020000
000000000000000A P, =@Q,000000000T40000
Ay Fab" P =ab".Q)=d0".Q,0000

(2) P} =, Q,+Q,00007.Q,+Q,0000000000F,0 7.Q)+ Q)0
00000 RO Q00000001 0000000000000000000
AP =7Q,+Q,000000000T10 T40000A4 + a".P, =
a0 (1.Q) + Q) = ab".Q), = a'0.Q, 0 000

3) 7.P,+ P} ~,Q,0000000 (2)0000000
00000000 A4 00000ROOOOODOOOOO (ef".P)00Q, 0000

O00000000000000000000000000000000000000
AFP=P=0Q,=Q000000 .

0000000000000 000O00DODO0O0DOO000OD0ODO AA0D0000

00 4.5.16 200000000 PO QUUODOOODOUOD A0000000O000
O0AFP=QOO000000O0000 A0 A4 0 MI1-40E1-30T1-40000
gboobogoon

T5 a.(P+ Yier Qi + TP+ Zier 7.(Qi + Q}))) = a.(P + Xie, 7-(Qi + Q7))

T50000 %,,Q,000000000000 «?"000000000000000
r0000000000000000000000000000000000000
00000000 (a).(b%.0+ 7.7.b7.0) =, a!.7b7.0)0 TS50 0000000
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000AO00000000D000000000DOOO000DODOO00OODOOO0OD
gboobooobbbuooobbooao

OO0 4517 D0 00O0O0O0OO0OOOOOOOOOoPODOODDODODOODOO

(i) P=Y",0,,,0000P 000000000000
(i) 00 PLL P00 (W#47000 acmon(P)0000OPYS PODODOO
(i7¢) OO0 P=P=P'00 a¢mon(P)OU Px,, PPO00U0a¢mon(P)00OO0

1
goobobbuoboodgooooobbbboouotbooobooooooon

gbobobbooooooobobbodobuoobboboobbboooooobobn
goobbbooodao

00 4.5.13 P, 0000000D0O0O0O00O0O0O0O0ODLDOLODOOO P,=, PODOODO
mon(P,,) Cmon(P)0000O

00 a¢mon(P)00O0OOP,~, POOOOOOOO PO P/ O0COOOPR, =
P=PO00a¢mon(P)00 P'~,, POOOOOOOOP, &y, Pryy, P/O00
0000000000000 (4)000a¢ mon(P,) 0000 1

0000000000000 0000000O0OO0ODO00D00O0 (Doboo)oo
0000 (000000)00oooooooooo

00 4.5.14 PO QOO0O0O000OO0O0O0O0OOO0COOOOOOOOO0OO0O0OO0O
(1) 00 P~,,QDO00OP~, Q0000
(2) 00 P=,QO0000P%,Q0000

00 (1) PO QULOOCOODOODOOOOOOOOODOOOOOOO(P=R=00O
OOoOo0oo0obo0ob01000o0obouobboP=,QOD0O0D00OO

() P POOO0OP~, QUOODOOOD QOO000Q =% Q00
P ~,, Q' 0000depth(P') 4+ depth(Q') + 1 < depth(P) + depth(Q) D O 00O
00000000000P ~, Q' 0000
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(#) 000 ()ODO0O0O00O0O0O0ODOO

(iid) a ¢ mon(P)D000P~,, QDOOD000O0 QD0 QO0D0000Q=Q = Q"
00 a¢mon(Q)00 Pr,, @ 00000000Q"~,P~,, Q0O QOO
000000000000a¢ mon(Q)000000000mon(P) 2 mon(Q)
0000000000000 mon(P)Cmon(Q)DO0O0O000

00000P~, Q0000
(2) P=, QOO0 mon(P)=mon(Q)000000(1)00000000000 4

gooD 4515000 4516000 45170 ddboboodod

00 4.5.15 00 P=P =P'00 P=, PPO000OP=, PODOOO
o0 () P-->QUO000P =P ~, PO0O0000O0OOD0O QUOOOOOP =

P 00 Q~, QO000®G) P % Q00000P = P % Q00
00 (i) a ¢ mon(P)0000P = P’ ~, POOO0OO0OOO0O0 QO QOO000D
P=P =Q=0Q00a¢mon(Q)UD0 @ ~, POOOO(iw)a¢ mon(P)D00

0ooooon .

00 4.5.16 00 P -5 P~y Q &, PO O mon(P) = mon(Q) 000 O
P=,7Q+QO0000O

00 ()P QO000P~, Q00000000 Q0D000NQ+Q =

0=%Q'00Q ~,Q"0000(®GH) rQ+Q - QUIII0NQ 2 QI0000

a=700Q=Q000000P P ~,Q=Q0000000Q Q000

00P- P, Q00000000 PPO0ODOOOP =P =% P'00 P~

0000@G%) 000000 '

OO000D0O000OO0000O000oo0oo0DooOoonD A,000000o00o0od
goggbboooobbobobooboboooo

00 4.5.17 0000000000000 POOOO @00000AF a.P=a.P,
00 depth(P,) <depth(P)D0 00000000000 B,000000

00 pPOOODOOOOOOCOOOUOOODOODOOODOD (P=o00D0OO0OODOOO
P=— P = P'0O0P~, PPO0O0O0O PO P O0O0O0OOOOOOOOOO
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obooooooboodb0 pOb0O0O0O0OO0ODLDODODbDOOOO0DDODOOOODODOD
45150 00P~, POO0DO0O0OOODOPOOOODOOOOOOOOP-POOOO
000 Odepth(P') < depth(P)OD0O000O000O0O0ODOODOOOOO «a00COOO
Ay Fa.P'=a.P,00 depth(P,) <depth(P)O0OD0O0O00OO0O0OOCO P,00000
(x1)DO0o00O0OAO0D0CODO0ODOOODOCOUOODOOOOODOO0O0OOOOP =, P,0O
O0o0oooo00d0dP=, P~, P,00000000 4.5.13000mon(P,,) C mon(P)
ooooobooopPO0OO0ObOODLOO0 AO ROODODDOP=RA+P00
mon(P,) =mon(P) 00 mon(P) Nmon(P) =0000 PR 5000 ¢=20000

000P ~p P,00003) P % P/000000000Choice; 00 P+ Py %
PO00000O0PR,~,P=P +R0O000O000O0 P,O00O0R, = P,
00 Pl ~, P,0000 k) P, > P.0000P ~, 00000000 P/'O0

~

O00P =% P/O0 P'~, P,OO0OROO0OODO0O0ODO00DO00000000
P=P+P-P0OP-PO00000000000000PR, P =% P/Q
00O (i), (iv) 00 mon(By) =mon(P)0000000000P, ~p P, 0000

ggd

OD00A P =7P,+P,000000P - P00 P =, Py ~p PO
0000000 4516000P =, 7P+ P, 0000(1) o.P/0 AR O0ODOO0O
D000000000000O0P % P O0O0OTP,+P,0000000000
mon(Py) = mon(P) 00000000 PO o/ 000007P, + Pn = P O
Oa=ao00 P ~, P,00000000depth(P]) < depth(P)0D 0000000
D0000O00A F a.P) = a.P,, 00 depth(P',) < depth(P}) 00000000
000 P,0000000000P,, ~n Pl ~, P,O00O00OO0O 4514000
P, ~, P 000000000aP, %, P, =, P 00000000 45.12
D00A, DA FaP, =¢ P 0000000PR 000000000 4,000
0D0r.P,+P,0000000000000000000O0OOOOO(2)00000
rP,+ P, 000000000 POO0OOOOODOOOOOOOOOOO000
Ay F P =7.P,+P,00000 (x2)0

O00P 000 (mon(P)Nmon(Py) = 00R 5000 0 =?)000PR0
Siera;? P, 0000000000000 iel0000 a; ¢ mon(P)0000O0
D000eP0 RLOOOODOOOOOOO0OO00 je/00000a=0a;7%00

PN
a; "I

PQEPQJDDDDPQQQPQJDDDDDDChOiCGQDD PEP1+P2—>PQJDDDD
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D0000P~y Pn~y P00 e, ¢mon(P)00 PO00OOOOOOOOOODO
Q0 Qu00000P Q" Qu (+3) 00 Py e Qo 0000 Py, 0 Qo 00
0000 POO0OODOODOO0O0O0000000 «000004;F Py = a.Py;
00 A b 0.Qy = @.Qmy; 0000000000 Py 0 Que, 0000000000
A,000000 Py ~m Py ~m Qaj ~m Qumy; 00000000000 451400
Proj ~m Qmz; 0000000000 4512000000 000004 b @.Ppyj =

OJ.QWQJ'D|:|DDDDDDDDDDAgl_Oé.ng:Q’.PmQjICL/.ngj:Q/.QQjDDD (*4)|:|
000 (x1),(x2),(+3),(x4) 0000000 « 0000000000000 0

= « Pl—i—Zaﬂ?”lsz—l-T(Pl—i-ZT(Qz—i-a,W”lQQZ))) byPEPl—i—Pg, T4

Ay, F a.P

= a.(P+T1.P) by M3

= a.(P+71.P,) by (x1)

= a.(P+71.(Py, +7.Py)) by T1

= a.(P+71.P) by (*2)

=a.(P+7.(P+X7.(Qi +a;7".Q))) by M3, (x3)
(
\

= a.P by M3
= a.(1.Py + Pn) by (+2)
= a.P,
000 Odepth(P,,) < depth(P') < depth(P)0 000 1

0000AO000000D00C000DOODO0O00DO00DODODDOO0O0ODODODOO0OD
goobbogd

00 4.5.18 PO QUUOODO0ODOOOO0ODOOOOOOOODOOOOOODODOO
P=,0Q +<— AEFP=Q
00 (<::DDD).A2DDD T 0000000000 OO0OO0O00000

PP=P+ Y, Qi+ 7 (P+Yicm(Qi+ Q) = Po=P+ Y, 7.(Q; + Q)
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000000000 mon(P) Cmon(P)0000000000000O00O00O0O (i4)
0000000000000000 (iv)00a ¢ mon(P) 000 P - R, 00O
a¢mon(P) 0000000000 (G),(w),(@) 0000000

(=000 )P=,QU0000000M4,E1-3000 45100004 P =P,
o0 AFHFQR=Q, 000000000 RO, UO00D000ADDDOOO0DOOO
Py, P=,0%=,0,0000000000 P,=0=Q,0000000000 10
0000 (PO PODDDDDDDDDDDDDDDDDDDPOLPO’DDDDD
000PR =, Q00000000 Q,000000Q,=2qQ,00 P.~,Q,00
a=o’00000000Q,U000000000000 mon(Ry) =mon(Qy)0000
00Q,-*Q,0000000P, ~,Q,000aP =,d.Q,0000000000
45170004 F a.P=a.P 00 A+ o' Q,=d.Q, 000000000000
P.0Q 0000004000000000aP,=napP,=na.Q)=mnd.Q, 00
00000000 4514000e.P,=,d.Q,, 00000000000 45120000
AFaP =d.Q 000000000000 FaPj=aP =d.Q, =d.Q,0
000000000ROO0OODODOODO (a.P)0 A,000D0 QUOOOOODOOOO
O000D000000D0D0000000D00000000M1-40000A4,F Py = Qy
000000000004 FP=P,=0Q,=Q0000 .

4.6 CCBUOUOD

Core-CCBODOUODOO0ODOODODOODOODODODODLODDODODO 40O
goobobobobuoodgbbobodoooouboobbbouoooboooobooboo
00000000 O0bOO0bO0o0oobOOobOOoOobbOobooOoboOobDOo cecBoboboooOoo
OO0OCore-CCBOODOUODO +00000D0O0O0O0ODOODOODODODODOODOO
O0D0000000000000D naxO0 0000 max U0 0000000 Ipax U
gobooo

cCBOOOOOOOODODODOOOoDODDOO

00 4.6.1 (CCBOOO0OOODOOODO 000 BNFOOOODDODDODODOD

E =X | 0| alei)!(c)(e2).E | aler]! (@) (e2)-E | ale]?(c)(2).E | ale]2(c)(@).E
|E+E|EIE|E[f) | E\L|ifbthen B | Aey, - c,)
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+0000b00000ec0000000000c0000000000000000
00000 be,c000000000000000000000000O0000O00O0O
0oooo .

nO00000000O0000000
A(xla"'axn> d:efE

Oo0o0ooboobooooboooooorE0On o,---,2, 00000O00O0O0ODOO
gboboooooboooobobon

CCBOOOOOO E€&,00000Core-CCBOOOOON B(E) € Euppe 000
00000000000B00000000000 CCBOO Core-CCBOODOODOMN
0000

00 4.6.2 00 B: &y —Eue 0000000000

B(X)=X
B(A(er, - en)) = Aey e,
B(0)=0
B(ale1]!{c)(e2).E) = ey ¢, 1. B(F)
Blale]!(z)(€2)-E) = Xnemmax Gere"" - B(E{n/x})
B(ale]?(c)(x).E) = ey teo 7 B(E{v/x})
B(ale]7{c)(x).E) = Lyev te M. B(E{v/2})
B(E+ F)=B(FE)+ B(F)
B(E|F) = B(E)|B(F)
B(E[f]) = B(E)[f']
B(E\L) = B(E)\L'
(

obooooooooobovououobooobuoobbboboobooo

f/(am,vz) = f(a)m,vz
L' = {ay,. :a € L,(v,v9) € V?}
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000000000000000000 A(zy,---,2,) € E0DODDO (vy,---,0,) € V™
ooooo
def
A(Ul,"'7vn) :e B(E{Uz/:nz}ze{l,,n})

goggooo 1

OO0 CCBOOODO CHKODOODOCCBOODODOO Core-CCBOOOODOODO
goobobooon

CHK  al(z).(if # = 0 then zero!(1).0 + if = # 0 then nonzero!(1).0)

OO0 CHKOOOUOOO e00O0O0O0ODOODOODOODOOODODDOOODOOO
00000 zeroOODOOUOOOO nonzeroO OO ODOODOODODOODOOOODOOBO
OO0000000 Core-CCBOOOOODOODOO

B(CHK)
= B(a(x).(if z = 0 then zero!(1).0 + if x # 0 then nonzero!(1).0))
= ey @ .B(if n = 0 then zero!(1).0 + if n # 0 then nonzero!(1).0)
= cmax @ (B(@f n = 0 then zerol(1).0) + B(if n # 0 then nonzero!(1).0))
= all®.(B(zero!(1).0) + 0) + Yonert,, @"-(0 + B(nonzerol(1).0))
=all.(zero!’.0+0) + X, .1+ all".(0+ nonzero!*.0)

0 1 n 1
(~al.zero!.0 + Yner,, al"-nonzerol .0)

0000, 01 00max00000000000OO

max

4.7 04000

00 42000000000000000000C0O0O0O0CO00O0O0O0ODOO0O CBS[43]
0000000000000 O0OO0O0O0OO00ODO000D0OOOOOOOOD (O
O00000)-A~00000000000CBSOO0O0O0O0OoOoOooooooooooo
0000000 (D0)000000O0O0000ooo0oooUooOooooooOoO
O0000000000000000000 (synchronization algebra)[55| 0 0 000 O
gooboboogd

cCBOOODOODODODOODODODOOOO monOODOOOODODODOOODO
OO000D0O0OVIABUSOODOOOOODOOOOobDOobOoooOobooobooooo
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goodobooobbbobbobbbbboouooooboboobbbbobooo
O00O0DbOCCBO CBSOOOOODOOOOODOobDObODOobDOocCccBOoOoDOOO
gobdodobbbibooooboooobbobooboooobobbbboooooo
OOoCBSOOOODOODOODODO

0000000000000 000000000000000000 1900000
D00D00D000CBSOODOO0O0SCCSOO0D0000000D0000000OCBS
0sCCSODO00D0000000NNN00NDO0DON00DONooNnooonan
OD0000SCCSO000D0000DD POOODOOOODODODOOOODOO
0000000000 pODOOODOOOOOOOOO DO CCBOOODOO monO
000000000 (D(P) =mon(P))0

4.8 0O0OO0O

OO000O00O00000O0000o0o0b0oboobbObooOboU0obOoUoOooDb VIABUS
gogbobbboobgbobobobobbobdbooooooobobognooo
000000000 [39]0 VIABUSOOOOOOOOOOOOODOODOOOO [k0)0
OO000O«000 VIABUSOOOOUODOOOODDODODOOOODOOOOODOODOD

gboogogooboobbobbobbbuobbbuooooououoooobobooobn
VIABUSOOOOOODODOOOODOOooOoOOoObobODbOooooooog cecBoooo
oocCBOOODOOOOOOoOOOOOOOUOObDbOODbDOoObOODOObDODO
ooccSOobooboonbo ccBOoOobDOoOobOoOoOobboboboboboobooooboooo
goooboboouogoobbbbbotbooooobbooubooooooooooboo
gooooboobuoboooboooobobooobobooobbboobobobbo
000000000000 00000000bO0oDoo0ooD A,000000000
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Ry df T.(7.(su1@s1.SP + acy@sy.5u1Qs1. Ry) + ace@sy.019) + ace@sy.(7.015 + 7.021)
R, ¥ T.(7.(su2@s9.SP + ac1Qs;.5u5Qs9. Ry ) + ac;@Qs1.091) + ac;Qsq.(7.015 + 7.041)
Oq9 def 7.5u1Qs;. Ry + 7.0
O df T.5U2Qs9. Ry + 7.0
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0000000000000 00000000000O000OoOObOO0OnD (s)0o
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O (location equivalence) 0 O O P, = (¢.0/0.0) O P, = (a.b.0+0.¢.0) D 000000
obodoobodooboobuooboobooboobbbobopAUOeb bOODOOO
OooobbooRUO«0OOIOODOODOODOODOOO

a b

Py (ug 2 0)|(0.0) Tz (wg :: 0)](ug :: 0),
a b

P2 uy Uy = b.0 uiug  UTUQ 0 0.

DDDD%D w0 000000000000 oOOROOO0OO0O0OO0O0 OO0
wu, D OaU00 000000000000 0000O00O00000000000
0«.00000000000000(0000000)0000000000000O0
000000000000000000000 (true concurrency) 000000000
oooobdogod %’DDDDDDDD 00000000000 (450000
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000CCSGOOO000D00000000000000000000000 Q0
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5500000000 SYSOU0D0O0OD SPer,000D00O0DOOODODOOOSPery
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OO0064000000000DOODOODOODODODODOOODOODOGS00 pLOTOSO
gbobobooogubooobobboobbbbobbtodesubbbbooon
goobobobobboougbbooooooboodoubooobbooboobobo
goobboooooboobbodoooooooobobbbooooooooobo
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OO000obOobo LorToSstooooobooboooobbooooboboobobooooo
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(a;stopVb:stop)d «0 b0 000000000000000000000 (a;stop)
000 (kstop) 00000000000 D;000000000Ostopd0000
000 (00000)0000

0000000000000000000000000000000000
AB ™ 4; AB Vv b; stop

0000 ABOOOOOODOODOO0O0 «000000000000000 0000
0000000000000000000000000000000000 ABOO
0000 (n>0)0

N

PA def a; PA,,, PAB, def a;---;a;b;stop
~—
n U
0000000000 PAL,O0 ABODOODODOOODODOODODODOOO ABOODOO

O0yO0000000000000000O0O0O0O0O0O000O0000O0OO0O LOTOS|47O
googbbobuogbbobboooobbuooooooo

00000000000000000(0000000)0000000000000
000000 pLOTOSO 0000000000000 0000D0000Od LOTOS
0000000000000 00pLOTOSOO0O0000000«000000000
00000000000 000000000000000000000000000
000000000000 00000000000000000 ABOOOOOOOO
00000000000000000000000000 »00000000000
ooooooooo

AB' % qa: AB' V b; stop
0000(e;AB)0 0000000000 0000000000000000000
00000000000000»>00000000 PAB,0 ABOO0DOODO PA,
0 ABOO000O0O00

OO00OO0o0oboooooog ploTOSOOODO FILEODODOODO

FILE ™ open; OPENED
OPENED “ q(write; OPENED x read; OPENED) x close; FILE

0000 SxTOOOOOoOoooooooooood
SxT=SVvTV(S]T)
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000O0[]0 LOTOSOO0O00O0O00000CCSO +00000000000000
0000 (a;stop x b:stop) D 0a00/000 p00000000000000

OO0 FILEOOopenOOOOO OPENEDDOOUODOOOOOOODOOPENEDODO
writed read 0 0000 OPENEDOUOODOOclose000 FILEODOODOOODO
O0D0ODOOOPENEDODODOODODOODO writed readd close0 00O000O0O0OO
O0000000O0writed read0 000000000O0O0OOODOO0O0O0OODOOO
000 cose 00 D000OODODDODOODOODOODODOOOOODOO FILEO openO OO
writed read 0000000000 0O0O0OO close0000000O0OODOOOO0O
OO0Doo0ooon

OOOOFILEODOOOODO READD UPDATEOOODODOODODOOO
READ % open; read; close; READ
UPDATE % open;read; (close; UPDATE [|write; close; UPDATE)
0000 READO open000 read0 0000 close 0000000000 DOODOO
000 UPDATE QO open000 read0 0000 close 000000000 Owrited
O00 close0 000000000 0DO00OOOODOOO FILEODOOOOODO
000000000 READLOOPO close0 D0 0ODOOFILEODOOOOODODOOO

READLOOP % open; LOOP
LOOP ¥ read: LOOP
000000000 FILEOOOODOOOO «000000000 FILEOOOOO
READLOOPO FILE'OOOO0OODODOOOOO0O0OOD cdose0 000000
000000000000 00000000000000000

6.3 ULOUo0d

D000 pLOTOSODODOODODOODOOO0O0O0OODOODODOO pLoTOSODDOOODOO
OO00O0bO0ob0e3.1000 6320000pLOTOSODOOODOOOODOO
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00 X,Y,---0000

00 pLOTOSOOOO (M,N,---000)00000O0OO

00 6.3.1 000000 Sp.000000D0ODDOODOODOODO

stop : O4UO4OdoOnO
A . 0000 (Aek,)
X : 0000 (X €A,
a; M @ 00 (a€ Act)
<M o OO0
MMy : OO
M |[G|M, : 0DOOO (GCN)
MiANM, : OO
VierM; : 00 (JODOODDOOOODO)

O000MM;0000 Spe000000000COOOOOOOOOOOOO{O
0,000 }>0000 >00 >00 >00000000 1

00 Vi, M;O V{M; ;i€ I}0000 V{M:C(M)}0000000000 CcO00
0 CO0O0D00000000 {M;:iel}000000000000000V,eqnM
0 MVMOO00000000000007/=000000V,eM,;0 #£0000%£0
0D00000000000000000000000000000000000000

0)
Mifl - [Mn (n=1)

Z{Mla"'aMn} = Stop <n

00000 000000 vOOOoOoooOoOoUooooooooooOOMNO M
ooo NOOOobOooooooooboobooboooboMvyvNO MOODO NO
gboobooooggboobboboboouoouobobobooooooooobooo
gbogbooooobboonon

LOTOSOOOOOOOD |[Gb000000b0 GoOO0Ooo0oo0oooooo
gobobobboooooodboboobooooooooobobooooboon
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000 MOOOOODOOOOOOOO Ver(M)ODODOODOODOOVar(M)O MO
gbooboobooboooooobboobbn

Var(A) =0,
Var(X) = {X},
Var(stop) =0,
Var(a; M) = Var(M),
Var(aM) = Var(M),
Var(M op N) = Var(M) U Var(N),
Var(Vier Mi) = User Var(M;)

0000 op 0000000 op €{[,][G]l.AY0000O

0000000000000 oo0 M (Ver(M)=0)0000000000O0O0O
O Sp0000OOODOOO ST,---00000DODODODOOOOOOODOODODODOO
OOoooOO00O000000O0D00D0ObOb000 Aekk, DooooAY¥ soooooo
OO00bOo0O0o0o0O0o0obo SooogoooboboobobooooDOoobooboboo
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Pu=A|stop | ;P | P]P | PliG)|P

O0D0A€K, CK, o€ Act, GCNDODOO A€k, 000000AE P
(PepPr)0000D0D0DO0DO0DOOOOOO P,Q,---0000

6.3.2 [0OQ

OODO00OOO00O0000O0OO000O0b0o00oooDoODDbOooOoOoDDO plTs
gooooo
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Actg F oo, M e Sth
Stopg F stop € Stb
Chgy M e Stb v M| N € Stb
Chgy NeSth v M[N € Stb
Parg; M e Stb = M|[G]|N € Stb
Parg, N e Stb = M|[G]|N € Stb
Cong MeSth v MAN € Sth
Recs A S SeSth - Ac St

O6.1: 000000 ShOODOODO

00 6.3.2 pLTSOODO 5000000
<St1,St2,Lb,l—>,—>>,

00005, 00000008, 00000000 (St, CS4)0Lh00000000
—C St x S, 000000000—C S, xLbxSHO00000000000000O
00000000(s,s)e—0 s 0000(s,a,8)e—0s-2>s0000

000000000 seS;00000s— 4000000 SO0000O0DOODOO
00000 ¢ % 4"00000000000000D00pLOTOSOO0O0O pLTSO
gboobobboooboad

00 6.3.300000000000 pLTSOOOOOODOOO
(Spzx, Stb, Act,+—, —)

OOoo0oOO0ooOobOobo sshoOd elDO00O0OD0OODODOODOODOODOO —DOODO
goodbbb —obogode20b 6300000 DbO0O0OnODOO 1

pLOTOSOO0 0000000000000 ON00DON0DON000NAY A0DDDDO
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0610 «MODOODDOODODOOOODODODODODODO«ODOOODOODODOO
O00000000000000 (xa;stop(j<b;stop) 000000000 OOOOOO
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oo od F oo

Var, F X— X

Stop,, F stop — stop

Acty F aMw—a M

Unst,, M— M F <M — <M’

Chy M—M,N—N + M]Nw— MI[]N
Pary, M~— M, N— N + M|[G]|N— M'|[G]| N’
Cony, M— M N—N F MAN— M AN’
Disy Mj—M,jel b Ve Mj— M

Recy S8, AY¥s - A g

062000000000

gd g F gd

Act Fa: M -2 M

Unst M % M'+<M 2 M’

Ch, M-S M FM]N % M

Ch, N % N'FM[N % N

Par; M- M, a¢GFMI|G)N - M'|[G]|N
Par, N - N, a¢GrFMI|G)|N - M|[G]|N'
Par; M- M, NN, acGFMI|G]N-* M|[G]| N

Cony M % M' N =\{N":N - N"}, M e Stb- M AN > N A M’
Cony N - N' M'=\{M": M > M"}, M € Stb- M AN > N A M’
Cony M % M',N' =\{N":N - N"}, M ¢ Stb- M AN % M' A N’
Cony N = N' M'=\V{M": M > M"}, M ¢ Stb- M AN -* M' A N’

Rec P S I S N

063 0000dobb —-00000

oboboooooboooboobuo MmANDDODODDODOODDODOOOOMO N
goboogobobobbbuooooboobobobboooooobbbbobobodoo
obooooobooooooMaANODDODOODOODMO NODOODODOODDODOOOD
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OO0MONDOOODDOODOOOODODOOODODDOOO 61000 Consgd O 6.300
0 Con 00000000000 MOODOOODOOOOODOMOODOOOOOOO
o0 MONDOOOODODOOOO NOODOOODOODOOOOOOoobDboboo
MANODOODOOOOOODO MO NOODQDOODOODODOD

00000 Con; 00000 N =V{N":N - N"}000000000000OO
O0Con, 0000 M- MOOODON-NOOOOOONDOOOOOaOOO
00 NAMDOOODODODODODODDOOODOO0O0O0OO0O0000000 ConjO0O000OO
Ob0oobobd Con OO0 oonoobobO

Con| M - M' N-*5N' MecSth- MAN >+ N AM

0000 Con, 000000000 M- MDOOON->NOOOOODOOO N
0000000000 NNANMOOODODODODODODOODODODOOO0OO0OOOO0O0000Con)
gbogdbbobuogobobbooobn

Oo0odbobe20 vODODOOODO Disy DO0DbO0O0o0oooooboobo vbooo
0000000000000 000000 PO0O0O SOODODOOOS—S00O0O
000 S0000 PO SOU0DOO0O00OOO0OODO0OODOOO0ODDOODOOODDOO
OvMOOODOOO VM—COFD VM—TEAOODOOOODOOOOOODODDOOD
coFrdgbo0ooboOobOoboOobD TEAOODODODDODO

VM = COF v TEA, COF = coin; coffee; stop
TEA = coin; tea; stop

gddooooootoooooouoooooouoooo
g &t a;stop V b; (¢; stop V d; stop)

000008 — S =b;(¢stopVd;stop) 00000000 000000000
00 $—S0000c0d0000K0000000 5000000000000
000000000000 00000000000000000000 6310000
0000008, 0000000000000000000000

Spro ={M :VM'. if M — M’ then M’ = M}
goon
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00 6.3.1 M—MOOOOM € Spxo0000O0

Ooo0oM—MOOODOOODDOODODODOODODOODOOM - M — M'0O000O
M=M'OOODODODODM—MODOODOODOODDOOODOODODODODOOOOO

. Act, 00000000 o0 MOOODOM=M=M=a,M0000

2. Rec, 00000000 SOOO0OOM=A00S—MDO0 A¥soooo
S— MO0OD0OO0O0OO0OO0OO0OoOOM =M"0000

3. Unst, 00000000 M;O M, 0000O0M, — MO0 M = <M O
0 M =«M,00000000M =M, — M"00000 M/00000O
M, —M/00M'=<M/00000000000000000M =M/00
000000OM =<M =<M/=M"0000

4. Ch, 00000000 M My, M,,M,00000M, — M, 00 M, — M0
0M=M[MOO M =MM,00000000M =M [M,— M"D
0000 M/'0 M/ODO0O0O0M —M/0D0 My—M/00 M"=M/']M/D
0000000000000000M,=M/00 M,=M/000000000
M =M[M,=M']M;/=M"0000

5. Dis, 00000000 M, (je)DOODOM,; —» MO0 M=V, MO0
000000000000 00 M=M"0000

gobobooboobboboooobobon 1

O000Spr, 0000 My, No,---000000000000000000 M,000
0 Spo (ie. Spo= SpN Spze) 0000 Sp, 0000 So, Tp,---0000

6.4 00O

OoooO0oopLOTOSOOOOO0OOO0O0 POOD SOOOO0DOOO PE,SO00
000000000 LOTOS47| 000000 F0OO0O0OOODOOO
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00000000000000000000000000000000000 6.3.10
0000000S00000 -~000000000000000000 8,-% 50
00000000000000000000000000000000000

000 LOTOSO 00000 S0 {Sy:S—St00oooooooooon
OO0 OpLlOTOSODOOOOOODOODOOO0ODO«DOODOOOOODODODODOOODDOOD
OoO0000O0obObOosSO0booboOoooobooobogoon S;,00ooooooo
gooboboobooodgad

00 642 RCPrxSpO0000RCHAR)DOOOROODDDOOODOOOOOOO
O00R)CPrxSp0000000RCP xSp000DO0D0OOOOOODOOOOOO

¢ (P,S)eO(R)iff S+— Sy e SHODODOOO S,00000 acAct0DDDOO

() 00 P-%P 000000808, -*500(P,8)eRO0O00
(i) 00 S, % 9000000 PO P-%PO0(P,S)eROOO0

¢ (P,S) e )(R)iff S+ Sy ¢ SHOO D000 S,00000 acAct0DDDO0

()OO PP O00000m,S' 0 S-28, (P,S)eco™(R),m<n0000
(1)) 00 S-2-5'000000 m, PO PP, (P,S")ef™(R), m<nO00O

¢ 6(R) = Upzp 07 (R)D -

00 643 00000000 RO0O0O0O (PS)eROOODDOPO SOOODODDODODO
PE,SO0000000SO0000000C0OOOOO0O Proc(S)0O0O0O0ODO
00 Proc(S)={PePr:P},S}0000 I

gbed42000000000DOO0OO0OO0OOLOOODLOOODLODOObOODbDO0On
f=V,eM;00000000000000000000000 620000008/ 1f
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gobbbooobbbooodbswdbboooobobooobbbboooa

tt L V{T{a;tt : ae A} AC Act}

0000« 00AQ00D0O0O00DODOCDODOODOOOO0ODODOODDODODODDODDOO
0000 POOODOODA0D POOD0ODODOOOOOOO0ODOODODODOODOODOO
O000000OPO «t00000D00000O00O0OCOO0OOG44(1H)O0O0OO00O0OO

00000000000000
0 6.4.1 0000 SABOODO((h;SAB) 00000000000
SAB ¥ «a: SAB v b; SAB

OD0000SABD (000000000000 DO00)D00000D 000000
D00000000000000000000000000 PRODDODDOOOOO
0ooo
PR 4 a:b; PR
00000 ROODODOODODODOO0O0OPRE,SABOOOO
R = {(PR,SAB), (a; b; PR, SAB), (b; PR, SAB) }
000 O(PR,SAB)€0®(R), (a;b; PR, SAB)€0W(R), (b; PR, SAB) € 0O(R)0D D000

1
0000 ,00000000000000000064.1000 642000000

00 6.4.1 =, = 0(=,)

00 00 F,0 F,= (=) 000000k, 0000000000000}, C
0(=,)000000000F,CHE,00006(=)000000F,CE,000000
f(k,) CO(=,)00000000kK, = 6(F,) Co(=)000000K, 000000
0000000000, 0000000000000000F,C=,0000 1

00 642 Pl=, S <«<— S~ 5000000500000 acAct0DO0O0

(i,) 00 P-°5~P 000000 000008 500 P =, 50000
(ii,) 00 S > 9000000 POOOOOP-%PO0PE,50000
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00 (=)0000PE,SO00000 0 (P,S)ef™(=,)0000n=00000
(i,),(i,) 000000 =n+1(n>0)0000000 8,008 — Sy ¢ Sth0 O

() 0D PP 000000 m, S0 So-29, (P,S) €™ (=), m<n0000
(4) 00 S->5'000000 m,P'0 PP, (P,S8) ™ (=), m<n0000

0D000(P,5) ef™(=,) Co(=,) =FE,000G,), 6@, 0000

(£)000000 5000008500 (i), (E,) 000000

e SpeSthODODODO(P,S) efV(=,)0000

e Sy ¢ Sty0000(G,), (i, 00 P =, 00000(P,8) e (=,)000
OmDO00000000000000000 mOO00O0m<n000 00
000000000 ((P,S) e (=,)0000

0000(PS)eb(=,) ==,0000 1

0000000000 0000 =, 00000000 (B0000000O00O)000
goggooo

00 6.4.3 ac€Act, GCNOODOOOOOOie{1,2'00000P, € Pr,S; € Sp,
P E,5000000000000000000

(1) Q) P1 |:M Q; Sl
(2) P1HP2 |:M51|]S2
(3) PG P2 = S1[[G]] 5,

00 ()0 (2)0000 (3)0000000000000 (3)00000000000
0 ROODOO0O0O00000000000

R ={(P|[G]] P2, S1[[G]|52) « Pr [=u S, Pa = S2}

(PL|[G]| P», 51|[G]]S;) e RODDDOOOOOOOi€e{1,2)00000P =, 500
000000 »,00000(P,S;)ef™(=,)000000 n,+n, 0000000
00000 (P|G)P,S:][G]S) € (R) 000000, =0000 n,=0000
00n,>1007,>100000000000n, =n +100n,=n,+1000
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(n; >0)00 i€ {1,200000(P,S;) €+ (=,) 00000000 ;00000
Si = SOi ¢ Stb0 O (PmSOz) € 9(n1+1)(|zu) oo DParv HEN Sl |[G”S2 — SOl |[G”SOQ
D0000000Sy ¢ SthO O Sop ¢ Stb0 0000 OPargy» 00 0S8y |[G]] Sos ¢ Stb
ooboog

(i) P|[G]|P, -~ P,00000000000000000 Par,s 00000
0000000 Par; 000000000000000000000000000 P
0 P,000O00OPR % P O0PR -2 P00 P,=PI|G|PO00acGO
00000000 i€ {1,200000(P,Sy) € 0 (=,) 00000000 m;
0 000008, 2 800 (P,S) € 0m)(=,)00 m; <n, 000000
O00a e GOOOODOOPar; 000 Sy |[G]Se - 5][G]|S, 00000000
ie{1,2y00000(P,S) efm)(=,)00m;<n;000000000000000
(P [[G]] B3, S11[G][S3) € 6(R) 0 OO0

(i)0 (;()0000000 '

gbbobe44DDD00000OOOUOODODLODOOUOOOODLDODOOOOOO

00 6.44 Pe Pr, S;eSp00000000DO0O0O0OODOODOOO
(1) P’:utt

(2) P W, £

(3) P’IM51A32<:>P|:M51DDP‘:MSQ

(4) P’:M51VSQ <~ P|:M51DDD P|:M52

(5) PlE,<S <= P, S

HEN

(1) 00 R={(P,&): Pc P/}0000000000000000(Pt)eRO0
D00000Ap={a:P-5}0008 ={a;tt : o€ Ap} 00000t — Sy
000000000PO S,000 642000 ()0 ()0000000000
000000

(2) ff ¥4 00000000 6420000000000000
(3) (=)00000000RODOOOODOODODODOOOOODDOO
R:{<P,51>HSQP|:M Sl/\SQ}U{(P,Sl>IE|SQ.P|:M Sg/\sl}
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0000000 (x1),(x2)0n00000000000O00O0ODOO

(x1) (P,S1ASy) €™ (=,)0000(P,S)ed™(R) D000
(*2) (P,SeANS)) €W (=,)0000(PS)€ed(R)ODOOO

*1)0000(P,SIAS) €0 (=,)0000n =00000 7 =n+1(n>0)
0000000000000 =n+100000000000 7,00000
SiASy— Ty ¢ Sth0 0O (P, Ty) € 9"V (=,)00000000Con, 00000
S0 See 000008, 85,00 Sy 85,00 Ty=SnASe000000
O00SuASe=Ty¢Sth000000Cons 00085y ¢ Sth0 00O

(i) P> P O0O0OO(PT) €"V(=,)00000000mDO 77000
00T, -~ T,00 (P,T}) € 0" (=,) 00 m <n0000T, ¢ StbO
0000000000 Conzd Con, 000000000 Con; 01000
00 Con, 0000000000000 Con, 000000000000
0000 S, O00000S, - S00 T, =SyAS,00000000
Siu=V{S, :Sn s y000nQ

0D00(P,T)) €™ (=,)00000000 T,000007T, = SiASy—
;00 (P,Ty) € 0")(=,)000000000Con, 00000 S}, O
S, 000008, — S,00 8 +— S,,00Ty=S,AS,00000
0008y = V{S; : S —— S} — S, 0 Dis, 000000000
0000 S;000008, > S+~ S, 000000000000000
St 8,00 Sy S,000000Con, D008 ASy— T =S5 NS,
0000000008 AS, — To00 (P,Ty) € 0 (=,) 000000
(P,SiASy) €0™(=,)00000000m<n000000000000
0D00(P,S)cd™(R) 000000000 O0Sy, 25,00 (P,S)) ¢
OM(R)OO0 m<nOO0D0O

(i) Sy S/ 000000000000 (()000000000P -% P'O
O (P,S)edm™mMR)O0m<n0000

000 (PS)ed™V)(R)DODODODDOO (x1)000000

(x2) 00008 AS00000000000000 S{jAS, 000000000
D00 +x1)000000(P,S;AS) €™ (E,)0000n=00000000
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000 >10000 x1)000000000000(P,S1AS,) €00(=,)0
0000000000 T,000008AS,—Ty,eStb00 (P, Ty) € 90(=,)
D0000000Con, 00000 Sy 0 See00O0DOS, + Sor 00 Sy = Spo
00 Th=SeASn00000000SeASy=T,€Sth000000Cong O
0 Spe eSty0DDODOO

(i) PP 0O000(PT) €f9(=,)00000000 77000007, >
7,00 P =, T,0000T,eSth00000000000 Con; 0 Cony
O00000000Con, 0000000000 (*x1)0 Con,00DDOODO
0000000000 Con, 00D DOO0DDDOOODDDOODDO S, 00
0008y —— S 00T, =SAS, 000000008y =V{Sh, : Sz —
Sy} 000000000P |, T, =S A8, 00000000 mO0
OD00(P,SASy) €™ (=,)00000000000000 (x1)000
(P,S)ed™(R)0DDODDOODOODODOSy 2800 (P,S)) € 6(R)
0000

(i) Sy > $ 000000000000 ()000000000P -% PO
O (P,8)ef(R)0OODO

000 (PS)€f(R)I00D0O0000 (x2)000000

D00RODOOODOODDOODDOO(RS;)eROD0O0O0O0O0O00O
0S00000PkE,S$AS,000 PE,SA8 0000000000 n0
D000 (P,SIAS)€ebf™(=,)000 (P,S9AS;)€fd™(=,)00000000
00000 (x1),(x2)000(P,S) €9(R)DDO OO

(<)0000000O0OROODODDOOOOOOODODODOOOODOO
R:{(P,Sl/\SQ)IP|:M 517P|:u 52}
00000000 (=)00000000000

(=)0000P,5Vvs 00000000000 8000008,V S, — S,
00 P, S, 00000000Dis, 00008, S,000 8,+— S0000
O00O0O0PE, 5000 PE,S0000
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(<)0000P =, $,0000Dis, 00000 S000008, — Se00 P =, So
00000000Dis, 000085 VS, — SO000000000P =, SV5S,
0ooo

(5) 00 Unst, 000«S+—<S, 00000000000 8,—S,00000000
0 Unst 000« 500000000000 8 -%s00000000
064200000 (Pl,<S < P}, S) 000000

b 6440000000000

0 6.42 0000 SABO SBAOOODOOOOOOOOOOO
SAB % 4a; SAB v b; SAB,
SBA Y 4, SBA v <b; SBA
00 SABOO 64.100000000000S8BA0 (0 0000000000000
0)000000 «00000000000000000000000000000
0 SABASBAODOOOOODOD «0 b0000000000CO000000O000O0
000000000 64100000000 (PRY a;a;b; PR)0 SBAODDODOODOO
(PR |=, SAB, PR|=, SBA)0 000000 64400000000000

PR |=, SAB A SBA

00 SABASBAODOOODOOOD 640000#0000000000000000
00000000000000000000000000000000000000
000000000000 b0000000000000000000000000
0o0ooo '

Oooooboooooc, 00000 =z, 00000000000 S8C, 70000
OOo00o0o0ob0O sbooooobo00ob0 Tooboooo0oooobooooooo
SO Troooooooooooooooc, 000000000

00 6.4.4 S5,T e Sp0000

(1) SC,T <= Proc(S) < Proc(T)
(2) S=,T <= Proc(S)= Proc(T)
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|SAB/\ff||ff/\SBA ||SBA/\ff||ff/\SAB|

|SAB/\ff||ff/\SBA ||SBA/\ff||ff/\SAB|

0 64: 00 SABASBAOOOOOO (O:0000)

0ooo0o0oooo0o C, 00000000 (0000000000 o0o00)o
obooooooooooooooooobobooscg, roore,sooo S=, 71
gooobob=,0000000000000000000

00 6.4.5 5,C,1n00 SC,LO0ODODOoooooooooooooooo

a; 51 Cy a1y
S1[S: C, 11 | T3
ffC,5C,tt
SINSy C, Ty AT
S1VS T, Th VT
a5, C, <Th

00 (1)0000000

2) P, 5[5 000000000Ch, 00000 S0 Sp00000P =,
So1[[See 00 8y = Sy 00 Sy S 000000000 i€{1,2200000P0
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ooooooooo
P =¥{a;P':35. S % S, P 5 P, P' |, §')

O0000P~ P[|P,O00O P, SH00FPFSO00000000000000
O00~0000 (00 242)0000

e P~ PRO0OO®G P -2 POOOOP =, SulSe D ChOOOOD
i€{1,2)0 000008y 500 P}, $000000000ChO
Act 0OOP = S{a/; P 35", Sy 25 §", P 25 P P =, §"} -2 P'0 0
O00D00O0ChOOORR - PO0D00@GH) 000000000000

e P, S 0000() P =X{a;P":35". Sp 5 5", P 5 P P |, S"} -
PO00000000 ChD Act00000000000 000008y, - &'
00 P PO0P|,S0000

(i4) Sor > $'0000ChO0 So[[Sez 2+ S'00000000P =, Sot [| Seo
00000 POO0OOP - P00 P |, S000000000ChO Act
000P =%{a; P":38". S -2 8" P25 P P =, 8"} - P00 00

DDDDP1|:M51;MT1DD P2|:MSQEMT2DDDP1|:MT1DD P2|:MT2DD
000000000 6432 000PR[R =, TW[|T00000000P~ P[P0
O0PkE,T1|7,000000000

(3),(4),(5),(6)00D0 6440 0000000000000000 (3)00000000

Proc(S; A Ss) = Proc(S1) N Proc(Ss) C Proc(Th) N Proc(Ty) = Proc(Ty A Ty).

6.5 UO0OO

0000000000000000000000 X, MO0O0O0X000000
000000000000000000 (S, M{S$/X})00000S000000
2416000 459000 00000000000000000000000uLOTOS
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O0000=,0000000000000000000 20000 Shas, Smin OO
000 X=,a; XVhstopdOOOOO

Spaz 2 @; Sy V b stop

Sin def <a; Spin V <b; stop

0000000000000 A%¥4e A0 S,.,.0000008,,,000000000
000 Sae %y Smin 00 0 0

0000o0oo000ooo0ooo(Cc,0000)00000b0o0000oOo0O0O0
0000000000000 00000000O00O0O00000ODOODOM{N/X}
OMODOOXOOOONODOOOODODOODOODOooo

00 6.5.1 Var(M) C{X}00 T2, M{T/X}00O0OO
1. 70 X~,MO0O0O0OO0OD0ODO

— S~,M{S/X}0000000 $S00000SC, 70000

2. T0 X=, MOO0OO0O0OOODOOO

— S~,M{S/X}0000000 $S000007TC,S0000

OO00000Db0O0bOb0o0obOOobOoooooooog phoTOSOODOOODOOD
0000000000 00oOoooCccsu0un (0o 24.13)0000 (00O 24.5)0
OO00OoDOog poTOSOODOOODOODOO

00 6.5.2 X e X,00M e Spx0000

1. X0 MODOOOOOOOOD <= XeVer(M)OODODO MOOOOOOO
MDOO0DOOMUOOQOeM'00«M'O0M|MYO0OV,,,M/DDD000O X
gooobon

2. X0 mMOO0OOO0OO0OO0O0O0D0O0O0 = 00000 MODOOODOOOD
X0 MOOOODOOD eeM'O00O00OO
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0000000 (a;X)V (¢;stop|[0]|d;stop) [ (;; X) 0000000 XO0OOOOO
00000000000000000000 MAM,0O0OOOO0O000000000
MiAM,0O0OOOOOOOO0O000000000000000000000000
00000 MyAM, 0000000000

OO00000ooooooooooooooooooooo f,0 000000

00 6.5.3 0000000 f,:Spr — Spz0 f,:Spx — Spx0 MOOOOO0DO
0oO000O00oo0oooon

stop (M = stop)

£.(8) (M=A4,A%59)

X (M = X)

a; f,(M") (M = a; M’ Var(M') # 0)
fu(M) =3 a; M (M = a; M, Var(M') = ()

f() (M = <M

So (M) [ fo(Mz) (M = M, [ Ms)

M op M, (M = M, op My)

Vier fo(M;) (M = Ver Mj)

Jastop (M = stop)

fu(S) (M=A,A%5)

X (M= X)

qa; fu (M) (M = a; M', Var(M') # 0)
fulM) =14 aa; M’ (M = a; M, Var(M') = 0)

A fu (M) (M =<aM')

Su(My) [ fu(Mz) (M = M, ]| My)

<A (My op My) (M = M, op Ms)

Vier fu(M;) (M = Vier M)

0000 op 00D0OOD op €{|[G]],A}0000 .

ooooo f, f,0000000000000000 651000 652000 6.5.3
0000000 e6510000000000000000 f,0 f,000000000
000000000000 000000000 652000 6530000 f,0 f,00
gbbooooobbooobbobbooobbbboobo
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00 6.5.1 M, € Spxod Var(M,) C{X}000 X0 M,0000000000000
0000000000

(1) X € Var(My) 0000 f,(My) € Sth0 000
(2) fu(My) ¢ StbO OO D

HEN

(1) XeVar(My) OO M, 000000000000 00000O0O0OXO M,OO
00000000000000000000M,=X0 My = My |[G]| Mg O
M05M01/\MOQDDDDDDD

e Mo=a;M' 00 Var(M)#00000Acts 00 fo(as M) =q; f,(M) €
Stb0ooo

e Mo=a;M'00 Var(M')=00000Acts 00 f,(a; M) =a; M € Stb
ogooo

e My=<M,000000000000 f(aMy) = f,(M)) e SthbO 000

o My= My I:IMOQ O000X e VGT(M0> = VCL?"(M(H) U VCM"(MQQ) 000X e
V&T(MOl) 0 X e VCLT(MOQ) ogooo

~ X eVar(My)0DOODOO0DO0O000 f,(My) €Sth0 00000
ooo Ch51 0o fV(M01 HMOQ) = fV(M01) I:IfV(MOQ> esStho oo
~ XeVar(My)0OOODD0OO000000000

(2) My0OOOODODODODODOOOOODOOOOO

o My=stop, ; M', <M,0 0000000 f,(My) ¢ Stb0 00D

e My=ADD A¥ 50000 f,(My) = f,(5)0000000000000
fu(S) ¢ SthO OO0

° MO = M01 I]MOQ gog Dfu(M01 UMOQ) = fu(M01> I:IfM(M02> googooodg
000000 f,(My) ¢ Sth00 f,(Mg) ¢ Stb0 00000000 Chgy,
00 f,(Mo) ] fo(My) ¢ Stb0 000
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00 6.5.2 M e Spz0 Var(M)C {X}0OO X0 MOOOODOOOOO0O0000OO
1) f,(M)— N,OODODDOO M,OODODOON, = f,(M,)0000

(2) fuM)—N,OOODODOO M,OODODOON, = f,(M)D0000

00

() MOOODODOOOOODOOODOOO

e M =stop0000OStop, 0O f,(stop) = stop — stop = Ny = f,(stop)
ogooo

e M=A00 A¥ SO0D0D00fA)=/(5)—N0OOODDDODO0000O
0000 M,OOOOON, = f,(M,) 0000

e M=XOOOOVar, OO f(X)=X—X=N,=f,(X)0000

e M=o; MO0 Var(M')#00000Acty, 00 fo(as M) = a; f, (M) —
a;, f,(M'Y=Nyg = f,(a; M)D DO OO

e M =M 00 Var(M) =00000Acty OO fi(sM) = ;M +—
a;M'=Ny = f(a; M)ODOO

o M=aM'00O00f (M) = f,(M")— N,00000000000000
0 M,0000O0N, = f,(M,)0000

o M=M[MOOOO/fM[M)=f(M)]/f(M)— NoOODOOCh,y
00000 Ny O N OOOOOS(M) — Ny OO0 f,(My) — Nop O
O No =Ny [N OODOODOODOODODODOOOG€e {1,2} 000000
0 My 0OOOOONy = f,(My) D00000000N, = N[Ny =
fo(Mor) [ fu(Moz) = fo(Mor[[ Moz) DO 0O

e M = M|[G]|M;, OO0OO f,(M|[G]| M2) = M |[G]|My — NoOODODO
Par, 00000 Ny O Np OOOOOM, — Ny 00 M, — Ny, O 00
No = Nt |[G]| No» 000000000 Ny = Nt |[G]] Noa = fo(Nox |[G]] Noo)
gooo

e M=MAMOOO0OM|G|M,0000000000

o M=V, M; 0000 f,(Vier Mi) = Vier fo(M;) — NoO OO ODis, 000
00 ;jel00000f (M)~ N,000000000000000 MO
0000N, = f,(M,) 0000
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(2)y MODOOOOOOOOOOODOO

e M = stop 0000 Unst, 0 Stop, 0O f,(stop) = <stop — <stop
No = fu(stop) 0000

e M=AOD A¥ SOODODOf,(A) = f.(5)—N,0ODDDDOO0DDDO
0000 M,OODOOON, = f,(M)0000

e M=X0OOOOVar, 0O f,(X)=X—X=N,=£,(X)0000

M=o,M OO0 Var(M') # 00000 Unst, O Acty, 00O f,(a; M)
A f,( M) — <a; f,( M) =Ny = f,(; M)DDODOO

e M =o;M' 00 Var(M') = 00000 Unsty, O Act, 00O f, (M) =
Qo; M — <o; M' = Ny = f,(a; M) O OO0

o M=aM' 0000, (M) =<f,(M')— N,OOODOUnst, 00000 N,
0O0f,(M)—NOO Ny=<N,000000000000000 M,00
N =f,(M)000000000N,=<N,=<f,(M) = f,(«M})0000

M=M|M,0000000 ()0 M=M[MOO00000000O

M = M, |[G]| M, 0000 f,(M |[G]| Ma) = a(M,|[G]| M) — No OO OO
Unst, 0 Par, 00000 Ny O Npe DOODOOM, — Ny OO M, —
Nop OO Ny = <a(Noy |[G]| Noe) D00 D0O00D0ON, = <(Noy |[G]| Nez) =
fo(No1 |[G]| No) DO OO

e M=M AM,DOODM|G]|M, 0000000000

e M=V, M;0000000 (1)0M=V,,M0000000000

00 6.5.3 M, € SpxoOVar(My) C {X}000 X0 M,00000000000000

(1) (M) > N'0D0 Var(N)£0 000000 MO0000 N = f,(M)0000
(2) fu(Mp) 2> N'DO0 Var(N') #0000000 M'O0000 N' = f,(M)0000

HEN

(1) f,(My) 2> N'00 Var(N') £ 0000000000 Var(M,) #00000 M,
000000000000000X0 M,000000000000000 30
0000000000
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e My=a;M"00 Var(M") 400000 f,(o/; M) =5 f,(M") = N'O
D00ActD00a=a/00 N = £,(M")0000

o My=<aM, 0000 f(aM) = f,(M) > N'ODOODOOOODOOO
00 MOO0D00ON = /,(M)0000

o My= My My 0000 f,(Mor [ Moo) = fo(Mo) [ fu(My) — N'000O
0000000000000 ChyO ChryOOOOOOOODOOO Chy O

0000000000000 f,(My) — N'D0O0O0O0O0O00000000
000000 MOODOOON =f,M)0DD0OO0O

(2) fu(Mo) %> N'00 Var(N') 40000000000 Var(M,) # 00000 M,
000000000000000

o My=a;M"00 Var(M") #0D0000 f,(o/; M) = <ds f,(M") = N’
0000UnstD Act000a=a’00 N' = f,(M")000D0

o My=<M, 0000 f,(<M}) = <f,(M) > N'O00D00000UnstO
00f(M) -~ NDOO0000000000000000000 M 000
OON = f,(M)0000

o My=My[My 00OO0OO(1)0 Mu[[MyDOOOOOO0OOO

0000000654000 6550000 f,0 f,00000000000000O
Oo0000000e654000 f,0 f,00000000000000C00000A0
OoO00e6550 f,0000000000000000000f,,00000DO00OO
goobbobooooobobobbobn

OO0 6.54 000 SeSp0dbonooooonoonooDO

(1) M{S/X}=, f,(M){S/X}
(2) M{S/X} =, fu(M){S/X}

HEN

() MOODOOOOOOOOOOOOOOOOO
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M = stop, X, a; M’ (Var(M') = 0), My |[G]| Ma, My AM, OO 00 f,(M) =
MOOOOoOOoOo

M=oMUOO Var(M)#00000 f,(M) = fu(as M) = o; f,(M') O
00000000000OM{S/X}=, f,(M){S/X}0000000000
6.45(1)000M{S/X} =a; M'{S/X} =, a; f,(M){S/X} = f,(M){S/X}
gogn

o M = <M O0D0O0fM) = f,(«M) = f,(M)0000000000
000M{S/X} =, f(M){$/X} 0000000000 64.4(5) 000
M{S/X} =<M'{S/X} =, f,(M){S/X}=f,(M){S/X}0000

M= MM, 0000 f,(M) = f,(Mi[|M) = f. (M) f.(My) DO OO
0000000000 € {1,20000 M{S/X} =, f,(M){S/X} D
000000000 64.52) 000M{S/X} = Mi{S/X}]|M{S/X} =,
FoMO{S/ X L (Mo){S/ X} = £, (M){S/X; 000D

e M=V, M;D000000 M,|M,000000000 645500000

(2) 000 (1)000000000000000f,000a;M’, M |[G]| My, My A M,
0000000000 «0000000000000 644(5)0000000
O00000OM=o;M'00 Var(M)=0000000000000f,(M) =
fulaz M) = <o f,(M)O000000000000M{S/X}=, f.(M){S/X}
000000000 6.4.4(5)000<a; fu(M){S/X} =, a; f,(M){S/X}0000
0000000 64.5(1)000M{S/X}=a; M{S/X} 2, o; f,(M){S/X} =,
Qs fu(M){S/X} = fu(M){S/X} 0000

00 6.5.5 Var(M) = {X}0 A4, ¥ f,(M){4,/X}0A, % f,(M){4,/X}000XO
MOOOOOOOOOooOoOooooOooooooooobooooooooooooon

(1) PF A, — 000n,>000000PF, MW {tt/X}
(2) PE,A, < 00n>000000P, MW{£/X}

DOO0OM™0O MOOOODOOOOODODOO0OO0OO0ODOO0O000O0
MO =x M"Y = M{M™/X}.
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00 00 XO0O0O0O0OMOOO0O000000000000 6450008 C,8, 00
0O0M{S/X}C, M{S,/X}00000000000000000000MO00 X
000 SO00000000000 M{s/X}0000 M(S)000000

(1) (=)0000000000 7000004, C, M™)(&)0 ODODODOO
00000000# =00000 A4 C, 0000000007 =n+100
D0000000000A,C, M™(&)D00000M(A,) S, M(M™(tt)) =
MM (¢) 0000000000 6541)000A, %, f,(M)(A,) =, M(A,)O

D0000000PE,A 0000000 2»00000P =, M™(tt)0D00O0

(<:)DDDDDDDDDDDDDDDDDDDDDDDDD
_(0) _ __(n+1) __ _(n
|—M = Pr x Sp, |_u ) = 9(|_M)).

D0000k,= N EWOO0DO00D0D00D00000 (+1)0 2000
0000000000000

(x1) P = L(N)(f(M)™ () 000O0P EM f,(N)(A4,)00000000
Var(N)C{X}O0ODO XO NODODOODOODOOO

p/=0000000000000000n=n+1(n>00000

00 P = f(N)(A(M)™ () 00000 Tp 00 f,(N)(£ (M)™ (1))
0O PR, T,00000000F((N)(f(M)(f,(M)™(tt))) — T, 0000
X0 f(N)(f,(M))0DDO0000000D0000000000000000 N
DO0000AN)(f(M) — NyOO Ty = Ny(f,(M)™(s)) 00000000
L(N)(f,(M)(A) — Ny(A)ODDODDOOO0D0OX € Var(f,(M)DOOODOO
fN)(£,(M)) = £,(N(M)) 0000000000 f,(N(M))— N;000000
00652()0000000000000 NOOOOON)=/f(No)ODDODO

(
)

e X ¢ Var(N))ODOOOP =, To= Ny(f,(M)™(tt)) = Ny = Nj(A,)DDO DO
0O00D00LMN)(fu(M)(A))) — No(A,)BODO0O P =, fu(N)(fu(M)(A))
00000000A, % f,(M)(A)000P |, f,(N)(4,)00000000
=, CEMYOOO0PEMY f(N)A,)DODDO

e XecVar(N)DDODDDOODOX € Var(Ny)ODO XO No,OODOOODO
00000000000 651(1)000Ff,(N,) € Sh000000000
£ (No)(A,) € SthO OO O

177



() PP O00O0OPE,Ty= f(N)(f,(M)™(w)DDDO0O T'0
0000 f,(No)(f(M)"(t8)) <5 T' 00 P, T'0 000 £,(No) O
0000000000000 N"OO0D0O00f(N) 2 N'00 T =
N"(f,(M)™(&))D DD O00000f(No)(A,) = N'(A,)000000

* X ¢ Var(N"YOODDOP =, T = N'(f,(M)™(tt)) = N" =
N"(A,)000000000PEM N"(4,)0000
* XeVar(N"YODDODOOO 65.3(1) 00000 NVOOOOON"=
f(NYDDOOODOOOP |, L(N)(f(M™) 000000
000000000 P ER f(N)(A4)=N"(A,)0000
() 000 ())0000000000

00000P MY £,(N)(f(M)(A,) 2, f,(N)(4,)0 000000000 ()
opoQogogo

ODO0PEMMMw)D0O0000654(1)000P P f,(M)™(ec)0000
000000 (x1)0000 N=X0000PEMA, 00000000000
On>00000 PEPMM®(tt)0000P |, A 0000

(<)00000000002'00000M™(£#£)C, A, 0000000000
O00D0000# =00000 #C,A4,000000000nr=n+10000
D00000D0OM™(£)C, A, 000000MMY () =M(M™(£)) C,

M(A,)ODDDODODODOD 654(1)000A, =, f.(M)(A,) =, M(A,) OO
000000000 2/'0000 P, M™(#£)0000P, A, 0000

(=)00000000000 x2)0x0O0000O0OD0O000O0DO0OOOO

(x2) (P, fu(N)(fu(M)(AL)) € 07 (,) DOO B P |y fulN)(fu(M) 1 (5£))
00000000Ver(N)C{X}00OO XO NOOOOOOOOOOO

e n' =00000(P, f.(N)(f.(M)(AL))) €09(=,)00000000 S,000
O 0 fu(N)(fu(M)(Au) = So € SO D P =, So0 000 fu(N)(f,(M)) 0
0000000000000000000 N,OOO0OOf,(N)(f.(M))+— N,
00 Sy = Ny(A,) e sStv000D0000X € Var(f,(M))DDOODODOO
fuN)(£u(M)) = f(N(M)) D00 0000000 fu(N(M)) — N;OO
000000 65212)00000000000 N,OODDOON, = f.(No)
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0000000006512 000 f(Ny) ¢ S6h00000000000
Fu(No)(A) =8, e Sth0 00000000007 =00000000

n'=10000(P f.(N)(fu(M)(AL))) € 0V (=,)00000000 S,000
00 f(N)(fu(M)(A)) — So00 (P,S) €Y(=,)0000n=0000
0000000000000 NoOOOOO £u(N)(fu(M)) = fu(N(M)) —
fuNo) DO Sy = fu(No)(4,) DOO0000D0Df(N)(£(M) (£)) =
Fu(N) (£ (M) (o (M)V(56))) = £u(No) (£, (M) (££)) 0 0 0 O

(i) P> P O000O(P fu(No)(A,)) €V (=,) 00000000 SO0
000 fu(No)(A,) =500 (P,8) €09(=,)00000000X
0 f,(No)0DOO0OODDO0ODODD0D000000000 A, 00000
000000000 N'00000 f,(Ny) - N"00 S =N"(A,)0
0000000 f(No)(fu(M)V(££)) = N"(£(M)V(££)) 000 O
* X ¢ Var(N"YDDDOS = N"(A,) =N = N"(f.(M)V(££)) D
0D00ooooP,s) = (P, N"(f,(M)V(£)) € 0O(=,)0000
* X eVar(N"YODDODOOO 65.32)00000 NVOOOOON"=
f(NYODODOO0D0DOO((P,£f.(N)A)) € 09(=,)00000
000« =000000000000000000000000
X¢Var(N"YOOOO
(i) fu(No)(fu (M) (££)) = T'0D000(G)00000O0O0ODOO N"O
OD000Ff,(Ny) - N'ODD0 T =N"(f(M)(££)) 000000000
fu(No)(A,) = N"(A)D0000000000 POOOOOP % P
OO0 (P, T)eoO(=,)000000

00000 (P, fuN)(fu(M)1(£5)) € 6V (=) DO D O
n=n+1(n>1)0000x=00000000000000000 NyOO
fu(N>(fu(M)) = fu(N(M)) = fu(N0>D O (P, fu(N0>(Au>> € 0(n+1)(|:u) O

00000000f(N)(fu(M)"H2(££)) = fu(N)(fu(M)(fu(M)"F(££))) —
Fu(No)(fu (M)t (££)) D0 0 O

(i) PP 0000(P,fu(No)(A,) €0 (=,)00000000 mO
S'00000f,(No)(A,) =800 (P,S) €™ (=,)00 m<n
000000000X0 f,(N,)0000000000000000
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O N'00000Ff(Ny) > N'0O0O S =N'(A,)00000000
Fu(No) (fu(M) ™D (££)) = N"(f,(M)"™+0(££)) 00 0 O
* X ¢ Var(NYODODO(P,8) €™ (=,)000000P |, 5 =
N"(A,) = N"= N"(f,(M)"D(£) 0000
+ XeVar(N"YODDODOOO 65.32) 00000 NVOOOOON"=
f(NYODOODOOODO(P, £ (N')(A,) €™ (=, 00000
000A, € £,(M)(A)D OO, f,(N)(f.(M)(A))) € 0 (,) O
D0000000D00000000P E, fu(N)(fu (M) (££)) =
N'(f,(M)m+t(££)) D0000000m <n000000P |,
N"(fu (M) (££)) ©, N"(£,(M)"+0(££)) 000000
(i) f.(No)(fu(M)HU(££)) = T"O0000G)0D0000OODOOOO P
ONDOOODOP - PO0OT = N(fu(M)P(£)00 P |,
N'(f, (M) 000000

D0000PE, N(M™2(£#)0000000000 (x2)0000000

O0P}, A,0000A4,% f,(M)(A,)DD0OPE, f,(M)(A,)DD0DDO0O
00000 200000(P,f.(M)(A,) €0™(=,)0000000000 (x2)
O0O00N=X0000OP, f(M)™Y(#) 0000000000 6.5.4(2)0
O0PE, M (s)D 000

goooooodgoessodoonod
M = (<a; X [|b; stop) V ¢; stop

SA,0x def Fo(M){SAnmaz/ X} = (a; SApaz [|b; stop) V ¢; stop
SA,in def Fu(M){SAnin/ X} = (<a; SApin [|<b; stop) V <c; stop

Apin def a; c;stop [| b; stop

00000000 n>00000 Anpe =y M™{te/X}00 Apin = MM {tt/X} O
0000000 6.551)000 A By SAme 00 Ay, F, SAL, 00000000
00 Ape: |, M™{££/X} 000000 n00000000 A By S4m, 0000
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000 Apin |, M2{££/X} 00000 Apin Fu SAni 0000000000000
0000840 S4,, 000000 X, MOODOODODOOOODO0OO0O0OOO

00 6.5.6 Var(M) = {X}0A4, ¥ f,(M){A4,/X}0A, % f,(M){4,/X}000XO
MOOOOOOOOOOoOoOooDooooooooon

(1) A,0X~,MO000000000

2) 4,0 X~, MOOOOOOOOOO

00 006540004, %, f,(M){A,/X} >, M{A,/X}0OA, =, f.(M){A,/X} =,
M{A,/X}00OOO0OO0O0O00A,0A,000 X~ MOOOOOOOOO00000
000000000000000

(1) S, M{S/X}00 P, S0000X0 MOOOODOOOOO0OO0O0000O
0,>000000000000000

P ‘:u Sgu M{S/X} Sp o S M<">{S/X} Ly M<">{tt/X}

0000000 6551)00 Pl=, 4000000008, M{S/X}000
0000 SO00000SC,4,0000000000000

(2) S, M{S/X}00 P, A, 00000000000 6552) 0000000
P, M™{f#/X}00000000000000000OO0O
P ‘:u M<">{ff/X} Cu M<">{S/X} Spc S M{S/X} =4 S

oo0oo0sS=, M{S/X}0000000 SO00000A,C,S0000000
goodggod

OO00O0obOODo0O0OO0O00 pO0O00000O00DO0O0OODOODOOOOODOO
0000000000000000 POOO0OCOODOOODOOooD P4 00
gogbobboooobobboooda

00 6.54 fcAct000O0O0O «’ig pPrO00b0O0bO0O0OObDOoboboD

(1) P iff act(P) = {8}
(2) PLpyny iff D00 P ederig(P) 400000000 m0O P'A,,y00m<n
@) P it 00 nooprPS,
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000 Oderig(P) ={P" :3a. P - P',a# B}0act(P) ={a:3P.P = P'}00
00 .

00 derig(P)#0000000 pO0000000O0O0OO0OOOOOOOODOO
oooooo PEAO PE,OOCOON
PE; = a; (b;e; f;stop [ e; stop) [| ¢; d; e; stop,
PE; = a; (b; f; stop[| e; stop) [ ¢; d; e; stop
PE,000000 e00000000PE,~0000000PE,0ebf000000
00 e0000000000O00OOOPE,~O0000

OO000000000000000000o0o000pLoTOSO0000000 LIVES
O0O0o0O0obooon LIVEgD X =, MgOUOOOOOOOOO

00 6.5.7 scAct00000ODO0O0O LIVE;OOOOOOODODOODO
def
LIVEs = fu(Mg){LIVEs/ X'}
Oo00000 MgdOOoOooooooooo

M/gE\/{N(ﬁyA) : Ag ACt,A?é(Z)},
Npy=2{a X :#ae A X{B;tt: B € A}
O0o0ooooooooooa

P, LIVE; — P4

00 (=)0000Pk, LIVE;OO LIVE; % f,(Ms){LIVE;/X} 00000000
6.55(2)00000 " >000000P =, My {#£/X}000000000P 44y
0 »00000000000000007 =0000 My"{#/X} =#0000
00 =00000000n7=n+1(>000000000000 S00000
Mgt /X ) = Mp{M{" {££/X}/X} — So00 P =, S,000000000 Recy,
Acty, Chy, Dis, 000000000000 ADDS, = N {M{V{s£/X}/X} O
0A#00000

en=00000P}, Sy=Np{f/X}000000 f#4a€A0000 aO
00000000Ng.{f/X} - #00000000 POO0OOOP - P
00 P |-, #0000000000000A£0000000A={6}0000
D00O0act(P)={g}0000000 P4p,O0000
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en>10000A4={p}000 P4 ,000000A—{8}£0000000
0 Oderig(P)#0000000P ederig(P)D0000O0O0O0O000 000
DOP-PO0a#300000000P F, So= Nga{M"{t/X}/X}
0000008 % M{"{#/X}00 P' =, M{"{#/X}0 000000000
nooooooP 4, y000000000000 P € derig(P) #0000
0000 mO PA,,00m<n—1000000P4,0000

(£)0000000 (=)00000000P4,0000R00000000000
P, M{*"{#/X} 0000000 1

0000 PE,O PE,00000OPE, 00 PE, A00000000 657000
PE, |=, LIVE,0 0O PE, H, LIVE, 0000

6.6 UOoUoOnO

gddooouooouooooooooooooooooooooooooon
O0000000DO0ODDOO0o0bOOo0oboooOopoTOSOOODODOO AODDODODODO
ooooos,---,S, 00000000000 SsA---AS, 00000000000
0000000000000 so00ooo00oo00oooooooOoDoOoooon
000 (Proc(S) # 0)0

0000000 PR, SO000000O0O0 POODOOOOOOOOOOOSOOO
0ooooooooooono PepProonon P‘:MSDDDDDDDDDPTDDD
gddoooodooooooououooooouooooooooo

00 6.6.1 JO0OD0O0O Set0DOODOO0OODOODO

Sat=U{S : SO0O0O0D0OODOOO}CSp

O00O0SCOS) CsSpl sODoooooooooooooooeS)ooo
OSCsSpbiodboobobooobooboboooon

1. Se0®(s) if 00000000 80000008+ SyesSthDooon
OacAct0D0DO0O0O0 S %5000 $esSO0000
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2. Seot)(S) iff 00000000 S000000S+— S000000
a€Act00DDDO0O0 S, S000000mO0000S e0™(S)0O
m<nO0O00

3. O(S) = U0 0™ (S)

0000 |, 000642000008 €S«t0000S000000000000
OO00000O0ODbO0o0O00O0b0OD Set0000DODODOOODODOODOD

OO0 6.6.1 SeSpdoonooooag
SeSit <— Pk,SO000 POOOOODO
00 (=000 : 0000 ROOOOODOOOOOOOOODOO
R = {(Pr(S,),S) : S — Sy € Sat}
00000000 Pr(Sy)000 SoesSpo 00000 OODOOOOODOOOOOO
Pr(S) ¥ s {a; Pr(S)) : 35", 5y > 57, 8, € Min(5")}

Min(S)={So: S~ Sy € Sat,|S| = |5}
|S| = min{n : S € O™ (Sat)}
O0oosSOo00d |S|oc SO0 o0oooooooooooooooooo
000000000000 (x)0»000000000000000O00

(*) 00 S+ S,00 Sy €0 (Sat) 0000 (Pr(S,),S) €d™)(R)y00O0
n=00000n=n+1(n>000000000000S€6™ Y (Set)0000

(i) Pr(S) ——~ P'000OChO Act0O000D0O S0 S,000008, %500
Sy e Min(S)YODO P =Pr(S,) 0000000008, € 0 (Sat)0D 000
0000mO0000S8 €0™(Sat)00 m<n00000000S), e Min(S")
D008+~ 8,00 SjeSatDD |S)|=|900000000000 w OO
000S) € 0 (Sat)0D0 m/ <mDODOO0000S — S) € 0)(Sat)D O
m<m<n000000000000000(Px(S)),s) €™ (R)DODOO
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(i) S~ S'0000GHH0000000000S)0mO00000Pr(S;) — Pr(S))
00 (Pr(S)),s) €™ (R)ODO m <nDO000

00000 (Pr(S),S) e (R)D000000000 (x)0000000

00 (Pr(S),S) e ROODOODOOODNS+— Sy Sat0000000000O nDO
00008 €0 (Set) DD DO0000000 (x)000(Pr(S,),S) ed™(R)DOO0
OD0000ORCAR)DDO0O0OORODODOOOODDOOO

(«)00000000000DO0OD0COO00OODOO0OObOUODOO S Soooo
S0oboooboooobooooooUoo0obooooUoboooobooooooDoo
00000000 {S:3P. P, S}000000000000000O0000000

00 6.61000000000000000000000O00OOOOO0O0O Pr(S)O
OO00o0oooobOoooboboobooooog Sy,---,S0000b0b00boooo
OO00000 S1A---ASeSat000000DO0O0OOOOOODOODOOOODODDO
Pr(So) 00000000000 OOOSIA---ASy—SyeSat0DOO0O

0 6.6.1 00O SABO SBAODODODOOOOD 64200000000S8SABASBADODO
O00000 PROODDOCODOODOODOODOSABASBADODODOOODOOOOODOO
O0SO00000D00DO0O000000O00b0DbD0O0OOgSABASBAe Sat0DOODO

S = {(SAB A SBA), (SBA A SAB)}

000000000000000000000
ISAB A SBA| = 0, ISBA A SAB| = 0,
Ib; SAB A <b; SBA| = 0, |a; SBA A <a; SAB| = 0,
|<a; SAB A a; SBA| = 1, |<b; SBA A b; SAB| = 1.
00000000000000000000000000
PAB = Pr(b; SAB A <b; SBA) %< b; PBA
PBA = Pr(a; SBA A <a; SAB) % a; PAB
00 PABOOOOOODD «0b00000000000000000SABA SBA —
(b: SAB A<b; SBA) € Sat 00000000 6.61000000PAB =, SABASBAD [

0000000000 644000PAB =, SABO0O PAB =, SBAODOOOOOOOO
PABO SABO SBAOOODOODOOOODODOD 1
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6.7 0OUOO

0000000000000000000O0O0OO0ooOOOooOoooOooo (8,46, 33]0
Brinksma8]| 0 D0 0000000000000 ODODOOOOOODOODODOO LOTOS
000000000000 00O0O0O0ODODOOOOSteenD 6|0 00D0OODOODOO
00000000000 00000D00000O0Larsend (33]0 000000000
gboobbooobboooodooooobobobobbuooouooooobobooboo
OO0O000O0o00oooooooogeloTOSOOODOODODODOD

0000000000000000000000000000000 [29,36)000
00000000 (n0000000)000 (00)00000000 (CCS)000
(0000)000000000000 [290000000000000000000
0000000000Manna00000000 (PTL)O00000000000000
0000000 3600000000000000000000000000000
000000000000000000

6.8 U0OOO

000000000000 (boo0o0o0o0ooooooooOooO)oboooooo
OO0000 pLOTOSOODOODOOO0ODOOOOODODODOODODODODDODODODO
000000000000 (pLOoTOS)DOODOODOOOODODODODODOOOOOOOO
gogobbobbboooooboboboooobboooooobobbbood
goboboooboogaad

gbhoodgbogbbobbooooooobbuooouooobbooboobobon
goobobobboboggobobbboboobuooooboboobobooobo
gooboobooooooobbobooboboboobbooooobobbooobo
goobobobbuobdgdoobboddoooobobuobuoooooooobb
gooon

gogdbobbuodooobobobuooboobooooobobbooooobobo
00000000 DO000000DO0DO0b0ObOOoOo0oooOoooDOobODgeLoToS
00000000 |[G)|000000 vOoOoOOooooooooooooooooooo
00 6.4.33)0 0000000000000 0O0O0O0O0OOODOOOOOOOOOOO
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gobbboouobugooobbbooouobouobuooobbbooooooon
guobboooobobbooobbbouoobobboooobbboooobooboon

00000000C,00000000000000000000000000000
008, S, Ss0000000000

S1 = a; (b;stop V ¢; stop)
Sy = a; b;stop V a; ¢; stop
S3 = a; b; stop [| a; ¢; stop

S;0«000000 cOOODDODODOODODOODODODOODOS, 000000000 ab
OecOD0O0ODOOOOOSOOO0O0O0O0O0O0O0O0S,C,S 000000008505
O S;00000000000DO0DbO000o0oboobDoon

Stilla; b, ]| S5 Eu 52 a; b, ]| S5

00000000 P =a;b;stopa;c;stopd 08 |[a,b,c]|Ss000000S,|[a,b,c||Ss
gooooon

P =, Silla,b,c]|Ss

P, Salla, b, ]| Ss
00008 |abc|Ss0000000000000O0O0OOOOOOOOOOOO

Sy |[a, b, c]| Ss + a; b;stop|[a, b, c]| S — b; stop [a, b, ]| ¢; stop
— b;stop|[a, b, c]| c; stop —~

0000008 ebdSs0000000000000O0O00O0O0O0OOOO «aOO
o000 cOUODODODODOOO

Silla, b, c]| S5 = Si|[a, b, ]| S3 = (b;stop V ¢;stop) [[a, b, c]| c; stop

— c¢; stop|[a, b, ]| c; stop — stop]||a, b, ¢|| stop

0000 (5,5.,5)000000000000000000000O00O0O0O uLOTOS
goobbbb«bobbboooobbooooobbobbbooooooboboboon
goobbobobuodooboobbobbooboobboobbbooooooon
gboodbobodobbbooooboooooooobonboooon
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[ 7 [

Joodddooootobodd

71 0OO0oO0

gobobobbooooobboobobobbboboooooboboobobon
goobbobobobugoooboboboboboooooboboboboooooobon
gboodoobobbbbooooooobboooooooobbboobuoobo
gbhboooboboboboobbobbboooooboboonbo

eJ000@COOD0O)000O0O00O0O0OD0DO0O00OODOODOODOODOOODOOODOO
OO000oOooogpLOoTOSOODOOO0ODOOOODOOOODOODOOLODOODOOOOOD
gboobobouogoooobobbodooooboboboooooboooboo
goesgbbbooobbboogbboooobbobobobbbooobbboboo
gbodgboooobbbboobodboobboobooobobobbobuoogo
gbobboooouobooobboobbboobbooobbboobobuoooon

2500000000000 0000O0O [38,2]0000000OOOODODOOO Vv
0000000000000 000000O00OODO000ADDOODOODOOOO (DO
0)0o000O00O00O00oO00OoOoOO0O0ODOO0O0OOCOOUO0DO0ODOOODOOO
00 (0:ep)000000000000O0OOOOOOOOOOOOOOODOO (O:
ab+b.)0000000000000O0DOODODOCCSOOOOOOOOOOOOOOO
0000000000000 ooooooooog (ab=ab+b.a)O

0000000000000000000000020 (true concurrency) 0 000 O
ooo0o0ooor,e6,13,14,30,42) 0 0000000000000000000 [6)0
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gbhbooooouogooooboboobobooboboobbbooooobobooobo
00000000 (ab#ab+b.e) 0000000000 DCOOOOOODOOOODODOO
0000000000000 00C000DO (booooOO0)oDooUoOoooUOooOoo
gbhbogoobooboboobbbobobbobobbbdooooboboobodao
goboboobobbuoobuoooooobbobbooooobbbbbooboooo
gbooggbboobgooboogda

OO00O00o0oOobObOobO0obO0o0obOob0o0obOoboooboboD psapoooO
Ooo0bOooOOobobb0oobOo SspeO0b0bOO0OOO0ODDODOODDODOODO
O(peid0) 000000000000 O0C0OO0O0O0O00O0OOOOOODOODOO
(DSej00)0000O0O0O0O000OO0OO0OOOODUOUODODOOOOODbOODOO
OO00000o0bOobooboOobOoboooOobOoboooboboosp@OOnOOO
goodoobobobobuooooogbbobobooboobbboobogo
OO0000bO00bbO0obO0oDO0o00obobO0ooboDOobobOopSaegooooobooOoO
googbobobuodgoboooobbobobobobobobuobobooobobbooon
godn

OO00O720000000000000 pseg0OooOoOooO sSspeOdOoOOoOOoOT.s
OO0 740000DSe@0O Sspag0O0OoOoOoDOOO7s000O000OD0ODOO0OODODO
goboobboboogoboboboooobbbuobboboooogbrebonbnbD
gboboooboggoooboooboboarvbbbobboobooobooboon

7.2 DSaQ Spaggd

pDsSed cCSOU0O00DbO00boobDobDO0bOobOb0De@uOobOoboobobDOooboDO
gobobbbooooboboobobboboboooooboobooooboboboo
00 Krishnan[30|0 00000000 Distributed CCS[30] 000000000000
gboogooobbbooboooodoobobobboooobobobobbboogo
gboobboouogooobobobbobobooooobooboobobbobooboo
gbogboboggooboobobobobogoooboooboooobobbooobo
goooobbobboooooboboboobobuooooobbbooobuoogo
O DSedgOdpooooon

07100000000 DSe000000000O0000O00O00O00O0 (entl)0O
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sig
sig0

rset cntl > gate
\ * J

bth —» —> Up

Yy V

—» down

U 7100000000040

00 (btn)00000000000 (gate) 000000000 (up)D0000 (down)
00000000000000 (rset) 100000000000000000000
00000000000 pSe@000000 sYS0000000000

SYS = net> (CTQcntl | UPQgate)
cr btn.sig.ack.CT + rset.sigg.ack.CT
up%¥ stg.down.ack.DN + sigg.ack.UP

DN & stg.up.ack.UP + sigy.up.ack.UP

net = {btn{cntl}, rset{cntl}, up{gate}, down{gate},

sig{cntl, gate}, sigo{cntl, gate}, ack{cntl, gate}}
ooogl,s’,+40 CcCSOOOU00000OO0OO0D0DO0O0OOOUOooooOoooooo
O0c0d00000000dd net0 00000000 oooboooooood
D000 net 000000000 O0O0ODO0O0OO0OOODODOO0OODODOO entlO gate
OO000ooon bin,rsetd up, down D 0000000000000 sig, sigy, ack O
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(i) Sy 2% 8'0v € Pntg0a¥ € ED000 ¢y, € WO OO D (u(ty), a, g, v(ty)) €t
D0000000 ke KOOOOOY, € VOO0 v = {(¢, i) : ¢ € U} € PntyO
Y, €©—-V000 4 =i, 000000 0000000000 ¢ ev00
00O (u(ye), o, i, v(tr)) = (i, 0,00, 3) € 000000 Py, 25 Py 0000
DO000aV €& =env(D)000000Name, Com, EnvO00D 2% D'0
00 ke KOOOOOD 9= Py 000 D' € Ds(Diyy) 000000000
O00DES 00 S 2% s000000D =500000000D =50
0000000 S,000008 —S,00 D=5, e Sp(Simy) 0000000
ulv] = {(tr,it) : € WY U{(pin)  top €O — U} = {(¢y i) - k€ KyOO OO
00000 (u],S) €po0000

00 7.5.2 (po,t) 0 £&000000000000000 (u,5) € po00 S S0
000Dsk(u) ESODO0D0D0DO0DOOOOODOONO Dsk(v)00000000000 :

Dsg(u) = £ > [[{Pry,(u(v))Qy : ¢ € pn(€)}
Pr), (i) def S{aPry(i') : (i,,0,4') € t}

DO00O0[{D;:ie{l,---,n}}y=Dy|---|D, 0000
00 0000 ROODODOOOOOOOOOOOOO
R:{(DSE(U),S)ZHSQ.SHSQ,(U,SQ)G,OQ}

(Dsk(u),$) e ROOODOOOOOOO0O S,000008 — S,00 (u,5) € po O
000
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(1) Soa—\y><> S'0000(p,t)0 £-00000000000000wve Pnty0 S,00
O00aW¥ € 0S5 — Si0(ulv],S) € po00 00 Y € WO O (u(y), a,,v(y)')) €
t0000|¥||=10000 |¥|=20000000000000% = {¢,4,} O
00 (1 #¢.)0000000 ke {1,2Y0000 0 (u(wy), o, e v(y)) € t0 0
000000 Act, Choice, Rec 0000 k€ {1,2} 0000 0Pr, (u(ih)) -
Pr) (v(yy)) 00000000¢ € pn(E) =9 000 0u(¥) = ufp)(v) 00
000000 NameD Com, oy 00O {Pr, (u(i) @y : ¢ € pn(€)} 8
[H{Prl, (uv](¥)@y' - ¢ € pn()} 0000000 0a{¢1, 0} = a¥ € €0
D000 DEnv 000Dst(u) 2% Dst(u[e]) 000D00000S w— S, 00
(u[v],Sh) € pp 000000 (Dss(up]),s)eRODDOD

(i) So 2% S'00 Dst(u) 2% D'0000Ds:(w) 2% D O0000O0O00D0
0 EnvO00000000 D’0000 0[P (u@)@y : ¢ € pn(€)} 2%
D'00 oV e 00 D =€E-D'0000000 (H)I00D0DOOOY =
{1,»} 000000000000 Named Com,;,3 00000000000
00 PO PO0D00OPY (u@)) 2 P OO0 Pr (u(y) =~ Py0O0
D" = [I{Pry (u(y)@y : &' € pn(€) — {¢h, ¥} }|P{Qyy|Pjay, D000 OO
000 Act, Choice;, Ree 0000 k € {1,2} 0000PF; = Pry, (i) 00O
(u(i), o, ¥y, d,) €t 000 40000000 0v={(¢1;4,), (Ye;8)} 00000
0 ke {1,20000 (u(y), a,pvy) € t000000000 (u,Sy) € po
00 S %800 a¥ e E0000(py,t)0 £&-0000000000O0O0O
0S,000008 — Sy00 (up],S) € pp0000000D =EbD" =
E v TH{Prl, (u[v] ()@Y - " € pn(€)} = Dse(ufp])) 000000008 — S50
O (u[v],Sh) € pp00DOO0DO(D,S) = (Dsg(uv]),s)eROODODO

ggrh20 000000 ouooboboboboooboon
78000 S,0000081+ S 00 ((0,0),S01) € ary 0000 (ary,trn) 0 (net)-0O
0000000000000 75200000000000 DsY%(0,000 5,00000

net

Ds,71(0,0) = net > (Pr)"(0)@p|Pr;™(0)Qq)

net

Pr;"(0) 0.0 + c.d. Pri™(0)

p

™ def ™ ™
Pr)"(0) = b.(c.Pr]"(0) + e.Pr]"(0))

208



7.5.3 UO0UOOOUO

000 ECA+DDODDODOOODD Satf 00 7.10000000008Sat® 00
000000 SO000 (000 €0)00000000000O (SO &00000)
000000000000000000000000000000000 (b, po, ) O
D000000b€ {t,#}0p € Ayl 0t € Trnge 0000000000000
000 Satf(S) 00000 «+ 00000000000 SO 000000000
00000000000000O(p,t)0 &-0000000000

0000000000000 0O00oOo0ooO()Doooooo Ssvroooo
00000000000 000O00O0(R)DUUDoOoOoooOoooODOOoDOOODOODOO
gobbooodoooooboboboobboodboouoobbboooboobnob
goobbbbooboggoobobboboouoooobobboboooboon
D000000000000000000000000000000 Sat*0000n
D00000000000000000000 Sat000000000000000
000000000000 Sat* 000000000000000000O0On

000000 Satt 00O

0O00 000 Sat® O Dis?, Rect, Pos®, Nec 0 40 0000000000000
00000000000 0000000000 (p,t,0(000 0p)) 00000000
O000: 00 p000000000000000000000000000 o (4
00 o) 000000 (000000D)000000D0D0000000000000OO
0000¢t00 p000000000000000000000000000000
O00000000 Sat* 0000000000000000000000D000000
D000 ()00 710000000000

Dis0000000000000000000 0000 (4000000000
000000000 #00000 (,)00000000Dis*0 &000000000
0T,00 (00 «<p,0000)00000 0,00000 (34500000000
000~00000000000000000003000000000000000

(1) 000000
(2) S—S000 {(u,8)}—{(u,S)}000O0
(3) pr—po00 o000 pNo=0000 pUoc+—pyUoce 0000

209



ad

Sat®(S) = Dis® (0,0, 0), where o = {{((¥;0) : ¥ € pn(&)},9)}.

Dis® (po,t,0) = (b, py,t'), where
if o = 0, then (b, pf), t') := (tt, po,t),
else if o w4+, then (b, pj,t') := (££, po, t),
else (b, pp,t') := Rec® (po,t,00 — po), where
o9 €Ty :={o}: 0+ 0}},
(check(Rec (po,t, 00 — po)) = tt or (Yol € Tg. oy <p 00)),
(Yo}, € Ty such that o, <p og. check(Rec (po,t,0f — po)) = £f).

Rec® (po, t,00) = Pos®(g(po), g(t), g(c0) — g(po)), where
g€ G :={g :V,i). (¢'(¢,7) =i or I(u,Sy) € gg. It'.
(u',So) € po U oo, u(y) =i,u' () = g'(¢,1))},
(check(Pos® (g(po), 9(t), 9(00) — g(po))) = tt or (Vg' € G. ¢’ <R g)),

(Vg' € G such that ¢’ <p g. check(Pos®(g'(po), 9/ (1), ' (00) — ¢'(p0))) = £).

PoSg(po, t,00) = (b, pi,t'), where
if {aW : 3(u, Sp) € 00 35" Sy L%y '} — € £ 0, then (b, ph, 1) = (£, po, 1),
else (b, pp,t') = Necg(po Uog,t Ut o), where
t" = {(u(), o, ¥, v(x)) : 38", V. (u,a¥,v,S’) € new,y € ¥},
o :={(u[v],S"): a¥. (u,a¥,v,5") € new},
new := {(u,a¥,v,8") : 3Sy. (u, So) € 00, So a—ql><> S’
v = {(¢; newid(po U oo, u, a¥,S")) : ¢p € U}}.

Necg(po,t,o) = Disg(po,t,o Uc”), where
o' == {(ulv],S) : 3Sy. Ja¥ € &. (u,Sy) € po, So ﬂ’[l S’ v € Pnty,
(VpeW. (u(¥),a,,v(¥)) € )},
o :={(u,S’) € ¢’ : VS| such that S" — S{. (u,S}) ¢ po}-

(#13)
(f14)

0O 7.10: &0000000000000000000 Sat®

[YOOOOOOOO ¢,0 E-00D000DOO0OODODO g,000000 (8900
D00 «pO000000Rec 00O <zp0000000COOODOODOO(s)ODOO
check : {6, ££} X Ary) ey X Tripne) — {tt, £} 0 0000000000 (b,po,t) 00

oboosdnoooboonbonog

Rec 100000000000000000 (pUoy) 0000000000000
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D00000000000000D000000000 Sat* 000000000000
g: PNx7-7000000000000000000yDOO0O:0jO0D000OO0
0000000 (v;t—j)000000000000000CO0000O00O0O00O0
gooogon:

g(u) = {(¥;g(1,7)) : (¥; ) € u},
9(p) = {(g(u),5) : (u,S) € p},
9(t) ={(g(¥,4), 0, ¥, g(¥,i")) : (i,a,9,4") € t}.

00 GODOi#¢(v,i)00000000 0004000 ¢(v,i)00000000
0000 (0000000000000 ¢000000 (400000000000
000000000000000000000000000000 (x)00000 ¢
00000000000000000000000000000000000000
000000000000000000000000000 GOO0OO00000 (00
0 (,4) 0 id(y,i) =i 000000000 GOODOO ¢000000000&-0
000000 (00 «x0000)000000000000 ¢g00000 ()00
0 GOOO0O0000 ¢0 00000000000 ¢000000 (4;)0

Pos* 000000 £000000000000D00000D0ODOOOOOOOOO
000000 (p)00000000000000000000000D #£000000
D00000000000Pos*0 0,0 00000000000000000O00O0
000000000 ¢t00000 (f9) 0000000 752000 (00000000
0000000000000 0000 c000O00O0 (1000 newO oo 00O
000000000 (uw,a¥,v) O000000O0OO0O0OD 00000000 (42)0
000000 newidd ppUe 00000000 0ODOO0O0O0O0O0O0OO (u,a¥,S")O
goobooboobboonon

Nec D t0000000000000000000000O00O0OOOO0 7.5.20
00 (#)0000000000000000000000000000OO (413000
000000000000000 c00OO0O00O0O (#14)0

Disf0 Recf 000 «p0 <, 000000T,0GOOOOOOOOODOOOO
000 (455)000 «<p0 <z 00000000000000000 753000 7.54
D000000000D00000000000000000000000DoDoog
D0000O00ooood
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o I xpUOObUOOUOUODODODUDLDLOODOOODOLbODUUObLUODOO
000 SoeSp 0000 Cost(Sy) D0 D0DODDOODOOODO
Cost(tt) = Cost({aW)S) = Cost([a¥]S) =0
Cost(Sy N'Ty) = Cost(Sy) + Cost(Tp)
Cost(r:Sy) = r + Cost(Sy)

e 00 <z 0000000000000D0D00000 Sat* 0000000000
goobboobbdboboobobobobobboobooooooooogono
gobobobooobboobdoad

000000 Satt 0000

000000 Sat’0 7.5200000000000 S (078000000000
71100000000 (tt,p,,4)0000 $0 &0000000000000000
(Phs,t4)0 75200000000 (net)-000000 (ary,trn) 0000000

071100000000 10,11,160 0000000000 1000000 ((0,2), Ss)
0 Sy 22 8,0 Sp, 24 S, 000000000000S, 00000 [b{q}]Ss O
SO D000 (B{gNSes 0000000000 0000000Sn D S0 0000
000 p000000 (efp)) 000000000 ¢0000000 Su0O SepedOO
000000000000000000000000

0000 110008,0000 0000 Seu = 1:(e{p,q})Sp; 0000 100000
005,000 S00000000000008:;0000000 [d{p}ef00D0D
00000000000000000000000000000000 ¢{p,¢}000
S,00000000000

0000 1600000000000 ¢0001IDO 400 00000000000
00 0((1,4),So2) € 06500 ((1,0),50) € pps 00000000000 (1,4)0 (1,0)
00000 S 0000000000000000000000000000000
00000000000000((1,4),5:)0 ces 00000000

000000 Satt 0O O

D00D000Sat* 00000000000 O0Javad 000000000000 OO0
gboogoboobobouboobbboooob 2rgbbbog 200b00od
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1| Sat™(S)

2| = Dls"et((l),@, 1) o1 :={((0,0),51)}

3| = Rec™ (0,0, 001) oo1 == {((0,0), So1)}

4| = Pos" (0,0, 001)

5| = Nec"(001,t1,02) | t1 ={(0,a,p,1)},09 := {((1,0), S2)}

6 | = Dis"" (01,11, 09)

7| = Rec" (o01,t1,002) | 002 := {((1,0),S02)}

8| = Pos"et(am,tl,aog)

9| = Nec"(po2,ta,03) | po2 =001 Uoog, ta :=t1 U{(0,b,¢,2)},03 := {((1,2), Sos}
10 | = Dis™ (pgg, ta, 04) o4 =03 U{((0,2),53)}

11| = Rec™ (poa, ta,004) | 004 := 03U {((0,2),S04)}

12 | = Pos net(pog,t2,0'04)

13 | = Nec""(pos, ta,05) | pos = poz U oo, ts :=t2 U{(0,¢,p,3),(2,¢,q,3),(2,e,q,4)}
14 | = Dis" (poa, ts,05) | 05 :={((3,3),S03), ((1,4),55)}

15| = Rec""(poa, t4,005) | 005 := {((3,3),803), ((1,4), S02)}, 91 := (¢54 — 0)

16 | = Pos™ (poa, t},005) | 14 := g1(ta), 505 := g1(005) — 91(poa) = {((3,3), So3)}

17 | = Nec""(pos, ts,06) | pos := poa Uchs,ts ==ty U{(3,d,p,5)},06 := {((5,3),51)}
18 | = Dis"(pos, t5, 06)

19 | = Rec"(pos, t5,006) | 006 = {((5,3),501)}, g2 := (p;5 — 0)(¢;3 — 0)
20 | = Pos™ (pls, th, 0) Pos = 92(pos), ts := ga(ts), 92(006) — Pos = 0
21 | = Nec""(ps, t5,0)
21 | = Dis"" (pjy, t5,0)
22| = (86,05,

0 711: 00 5,00000000 Sat"™ 0000

g rvi20gggpoobbboboodoobooduouoooebbooonboon
gbodooobooboboodoodbobdoooooooobbobobbuoogoo
(00OOoO00DOOo0OO0O0OO000)D0000O0D0O0LO0OUOoDoooooDOoDo
goobbboooobouoobodg ri2bbggdooooooboars2bboogn
00 S (0 78) 0000000000000 00000O00LO0D0OODODOoOOOO
00000000000 00OC0O0oODoDOOO (Ary,Trn)000000ODOODOOCOO
00 (10)00000 (0220)0000000001 00000000000 0O0O0O
Ss00 Ses0 S ODOODOOODOO0OOOO0OODO SgeUODOOOODODOOoOOoODOO
O0o00O0o0oo0o s;ob00obobooobobobobooooSy,0ooooooooon
0000000000 000000O0OO0 7120000000000000 (Ary,Trn)
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Clpen Spec I Satisfiable I Svnthesziz | Have Log I Clear Log | Excit |

M5 Sat6inf
aan -
gkt Sat isfiability #ks

|| B w5 Al

sat =

Ary =
C{ipi0), (a0} :50
Clip;1d.0q:2)1:80

Ten = |
(3,d.p,00,00,c.p.80.02,0,9.00,02,8,9.00.(0,b,9.2).(0,a,p, 1)}

Backt racking = 1

Time zpent = 220ms

tik Svmthesized Distributed Swstem s

erv »>> ( Pp@p | Pglq)
where
eny = |

aipl,dipl.bia}l.elal.cip.all

Pell def c.Pp3 + a.l
Ppd def d.Ppl

Pal def b.Pag?
Pg? def c.Pal + e.Pql

g r7i2.0000000000b0004d

0 7520000000790000000 (ary,trn) 0000000

D00000Sat* 00000000

gooooo Satg(S)DDDDD 00000000000 Oo0ooon sg é&-
gboboboobbobobood rh3000 rh400nnm

00 7.5.3 00 SO £&-00000000Sat’(S)0 0000000 Ocheck(Saté (S)) =
twdon

00 £C ActOpy, ply, 0,00 € ArgpneyD 6t € Trny 0A0 0000000000000
O00Oh(po) C po0 h(oo) C pp0 () CHOint(t) Cint(poUoe)00 O (py,t') 0 E-00
00000000000 000400000000000000000000 Oint(t)
Oint(p) 00000 ¢t000 pO000000O0OO0OOO0O (OO ID)D0O0O0OOOOO
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(1) 00 Dis®(pg,t,0) 0000 Do+ 09000 Ocheck(Dis (pg,t,0)) =ttt 0000
(2) OO Rec(po,t,00) 00000000 Ocheck(Rec (po,t,00)) =t 0000
(3) OO Pos®(po,t,00) 00000000 Ocheck(Post(po,t,00)) =t 0000

(4) 00 Necf(po,t,0)0 000 Oo — 090 00 Ocheck(Nec (py, t,0))=tc0 0 00

O00000oooo00oooo0oooooooooooooooo),---,4)o000
gon

(1) Dis®(po,t,0) 000000+ 0o 0000

ec = (00000 (%) 0O00Dis*(py,t,0) = (tt,po,t) 000000000
check(Dis® (po,t,0)) =t 0000

e 000000000 0+0,00 ()00000000000 (4345 000
00 oy 00000Dis*(p, t,0) = Rect(po, t, 00 —po) 00000000 0,
00000000000 0000

(%1) o € To={0y : 0 > 0]

(*2) check(Rec® (py,t, 0 —po)) =0 000000 of €Ty0 ol <p )

(%3) of <p o 0O ODDO0O0 of € To0 check(Rec (po,t, ol — po)) = £f

00000~ 0, 000000 ()00 0pely00000,0 0, 0000

goododoo3guonoooboboon

(a) 00 <p oy 00 00(*3) 0O Ocheck(Rec (po, t, 00— po)) = £ 0 0 0 OO
00 Oh(pe) € poBh(o0—po) S ppBA(E)  #'Dint(t) S int(poU(o0—po))
000000000000 (2)000check(Rect (po,t, 00— po)) = tt O
O0000O0000oDooC00C0 eo<po, 00000O0OO

(b) oo =0,0000h(po) € prOh(co—po) C pp0h(t) C t'Oint(t) C int(poU
(0o —po) 000000000 DODO0O0 (2)000check(Rec (po,t, ol —
po)) = check(Rect (py,t,00 — po)) = tt 0 00O

(c) oy <p oo 00000, 000000 0000000000 (%) OO0
check(Rec® (pg,t, 0, —po)) =t 0 000

0 00 O check(Dis® (po, t, o)) = check(Rec (po, t, 0 — po)) =t 0000
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(2) Rect(po,t,00) 0000 00000Rec (po,t,00) 000000Rec (po, t,00) =
Pos® (g(po), g(t),9(c0) —g(p)) 0000000 0g000000D0DOO00DOO
oOoooooooo

(x1) g€ G={g :V(¢,i). (¢'(4h,i) =i D OO
(u, Sp) € gp. . (W', S0) € poU g, u(th) =i, () = ¢ (¥,i)}

(¥2) check(Pos®(g(po), g(t), 9(c0) = g(po))) =600 DD
000 ¢ €GO ¢ <rgO

(%) ¢ <xp¢0000000 ¢ GO0
check(Pos®(¢'(po), ¢'(t), ¢'(00) — ¢'(po))) = ££0

00000 (v,i)00004d(vw,d)=i0000000000d000 GOO0
000000 ¢g00000000000 300000000000

(a) id <r g0 OO0 (x3) OO check(Pos®(po,t,00 —po)) =ff 00000000
h(po) € P, h(oo = po) S phh, h(t) S t', int(t) C int(po U (00 — po)) OO OO
00000000 (3)000 check(PosS(p, t,00 — pp)) =t 000000
O00bO0b0b0b0 d<krgooonong

(b) id = ¢ OO 00Oh(pe) € py, h(oo — po) € py, h(t) C ', int(t) C int(py U
(0o—po)) 000000000000 (3)00 Ocheck(Pos® (g(po), g(t), g(oo)—
9(po))) = check(Posg(po,t,ao —po))=tt0000

(¢) g <pidDODODO (%) 00 check(Pos®(g(po), g(t), 9(00) — g(po))) = t& 0
000

0 00O O check(Rec (po, t, 00)) = check(Pos®(g(po), g(t), g(oo) — g(po))) = tt O
ogdnd

(3) Pos®(py,t,00) 000000000 (w,S) € oo 00000A(ay) C py OO0
(h(u),S,) € 0000000 (p,#)0 E-000D00000000000 S, 2%,
SO0000aP e£00000000{a¥: I(u,S,) € gy.35. 5y 2%y S} C €
D0000000(4) 00000000 0Pos(pg,t,00) = Nec® (pyUay, tUL", o)
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O0000000¢D JO0000000DODODOO0

—
*
—
N—
~
N
I

{(u(y), a,p,v()) : 35" V. (u, a¥, v, S5") € new,p € ¥}

(%¢2) o ={(u[v],5") : JaV¥. (u,aV¥,v,S") € new},

(%3) new = {(u,aV,v,S") : 3. (u, So) € g9, So O‘—\I’><> S’

v = {(¢;newid(py U og,u,a¥,S")) : ¢p € U} }

000 {(w,0¥;,v;,5)) i€ I} =new 00000001, u;, oV, v, S; 00
000000 ie 00000 = newid(py U oo, u;,a;¥;,S) 0000000
000 ie /00000 () 000 ={(,n):¢% € UYOO (u,Sy) € 0o 0
0 So %, 8000 S, 00000000000 ie/00000u,=h(u;)0
O0000h(og) € pp 000 (u), Soi) = (h(u;), Sei) € pp D0 OO0O0D0O0OO (g, t)
O &O0000000000000 e I0000000O v, € Pnty, 0 S|, O
O0000wY; € €08 — S,0 (uivl],S) € po0000 ¢ € v, 00000
(i (¢"), e, W', 0i(¢")) e ¥ DO OO

000000000000 KO K = h(Y;n — vi(¥))pes,er 00000
O oy 0 o) = {(wv],S,) : i € [}0ODDO0ODO0OO0DDO0 i e [00000
W (w;) = uj, B (v;) = v}, 0" = 0, '(po U oo) C ppy, W' (0p) C pp, W(EUL") C
int(tUt") Cint((poUae) Uol) 0000000000000

() 0i€l00000 (u,Su) €0o000000 newidd pyUco 00000
00000000 m (ie)000000000K(w)=h(y)=«.0000
OO0O0R (v) =h{(W,n) ¢ e V;}) ={(,vj(v)) : ¢ e ¥;} =0, 0000

b) D icl00000S — S,000000 (+) 0000 = {(ww],S) : i€
I} {(wv], 8) i€ Iy =0, 00000

(¢) OO0 newidd pyUo, 0 000000000 000000D00D000 0N (po) =
h(po) C ppO N (00) = h(og) Cpr, DOO0O0O00O0OR (pgUoy) Cpp 0000

(d) (w,S)) € W(el) 00000, = {(wv],S,) : i € [} 0000000
0jel00u=huwl)00 S =25,000000000(uS)) =
(R (uslvs]), So5) = (' (ug) [ (v5)], So,) = (wjlvf], Sg,) € pp 0O D0

() OO newidd poUoo 00000000 OOOOOOOODODOOdnt(t) C
int(poUoo) D00 OOON(E) =h(t) CYODODOOOY, a9, 5) € B(E)
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00000 (x) 00000 iel00; =" ()05 =h(v()0a =
aly e U, 0000000000 a9, 5) = (B (w(®)), ai, v, M (vi(¥))) =
(W), oy, b, 0l(yp)) e 00O DOOO0A(tUE)C¥O0D00

(f) j€int(t"0000Gx) 0000090 icl00j=uw()000 =)
000000 j=w()0000(w,Seu) €000000007 € int(op) 00
0000000 j=v)0000 (wv],Shy) €o,00000 07 € int(op)
00000000 0mt(t") Cint(oeUel,) 00000000000 dnt(t) C
int(poUop) 00000 Odnt(tUt”) Cint((poUop)Uoy) D000

0000 - gy, W (poUaoe) C py, W(ay) C pp, W(EUL") Ct,int(tUt") C
int((ppUop)Uoh) 000000000000 (4)000check(Pos®(po,t,00)) =
check(Nec® (po U g, t Ut", o)) =t 0000

(4) Nec®(po,t,0) 000000 + 0o 010 00000Nec (py,t,0) 000000
Nec® (po,t,0) = Dis®(pg,t,c U ) 00000000/ 000000000000

o' = {(ulv],S") : 3So. 3V € E. (u, So) € po, So 2y S, v € Pnty,
(Vo € W. (u(¥), o, ¥, v(¥)) € 1), (VSy € { Sy = 8" — S5} (u[v], Sh) & po)}
00000006, 000000 0,00 hioh)) Cp, 00000000000
00 (up],9) €o’'00000S8 +— 5,00 (h(uv]),Sy) €pp 000 S,0000
(x) 000000000000

(up],$) €’ 00000000000 S0 a¥ € £00000 (u,S,) € pold
So 2%y §'0v € Puty0000 ¢ € OO O (u(y),a,¢,0(y)) €t00008 — S)
00000 S,00000(ufv],S) ¢ pp0000000 0w = h(u) € Pnty,e 00
00 (v, S0) = (h(u),So) € h(po) Cpy, 00000000V = h(v) € Pnty 000
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